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Read the following instructions carefully before you begin to answer the questions
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11.

IMPORTANT INSTRUCTIONS

You will be supplied with this question booklet 15 minutes prior to the commencement of the
examination.

This Question Booklet contains 200 questions.

Before answering the questions, you .shall check whether all the questions are printed serially and
ensure that there are no blank pages in the question booklet. If any defectis noticed in the question
booklet, it shall be reported to the invigilator within the first 10 minutes. and get it- replaced with
a complete question booklet. If the defect is reported after the commencement of the examination,
it will not be replaced.

Answer all the questions. All the questions carry equal marks.

You must write your Register Number in the space provided on the top right side of this page. Do
not write anything else on the Question Booklet.

An answer sheet will be supplied to you separately by the room invigilator to shade the answers.
Instructions regarding filling of answers etc., which are to be followed mandatorily, are provided
in the answer sheet and in the mem”oranduin of admission (Hall Ticket).

You shall write and shade your question booklet number in the space provided on page one of the
answer sheet with BLACK INK BALL POINT PEN. If you do not shade correctly or fail to shade the
question booklet number, your answer sheet will be invalidated.

Each question comprises of five responses (answers) : i.e. (A), (B), (C), (D) and (E). You have to
select ONLY ONE correct answer from (A) or (B) or (C) or (D) and shade the same in your answer
sheet. If you feel that there are more than one 90rrect answer, shade the one which you consider
the best. If you do not know the answer, you have to mandatorily shade (E). In any case, choose
ONLY ONE answer for each question. If you shade more than one answer for a question, it will be
treated as a wrong answer even if one of the given answers happens to be correct.

You should not remove or tear off any sheet from this Question Booklet.You are not allowed to
take this Question Booklet and the Answer Sheet out of the Examination Room during the time of
examination. After the examination. you must hand over your Answer Sheet to the Invigilator. You
are allowed to take the Question Booklet with you only after the Examination is over.

You should not make any marking in the question booklet except in the sheets before the last page
of the question booklet, which can be used for rough work. This should be strictly adhered to.
Failure to comply with any of the above instructions will render you liable for such action as the
Commission may decide at their discretion.
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TEST -1
GENERAL STUDIES
llerrgser  : 200 Qworss wHuCuewser : 300
Questions : 200 Total Marks : 300
1. With reference to the role played by the President of India in the Parliament,
consider the following statements:
BrLT@Epwearnsdle QbHws Gwrssd smee) HYnHolwumams Here |
SM&emsser LHM&EHLUILNLayb:
1. He may nominate two members of the Lok Sabha having special knowledge in
literature, science, art, and social service.
Sjaufwssaamallo@asSwb, delwew, sme wHNL Fups Csameu HpLi
fle Qaramr @@ e mlbarisener HuwlsléEsmd
2.He lays the reports of the Comptroller and Auditor General before the Parliament.
Ul BILTEpLeanSSleo wHHW sardE satlsamns dsmsamwsnFUNESprT
Which of the statements given above is/are correct?
CulGa Qsrhs&siuulLspnseie g sflurearg/sflumerg?
(A) 1only
1 LG
(B) 2 only
2 vl
(C) Both1land2
1 womwb 2
(D) Neither 1nor 2
@reawrhHn Qdena
(E) Answer not Known
cenL Qg flweilcrenc
2. With reference to the state council of ministers, consider the following statements:

wrfle emwisiser Gpenalll LD, Neraumbd s ensseners s e el riser:
1. The Constitution does not specify the maximum strength of the state council of
ministers.
wrfleo emwsFfaser seajanflcdlen HHsLULF LoD S TSwaenoliL]
SN al0enc
2.The advice tendered by the council of ministers to the Governor shall not be
inquired into in any court.
W EEBEHES dwEFfH G Jaflagh gy Canrsmarsaeans BHloermssdo
ETIMES@ 2 L LILL SO
Which of the statements given above is/are correct?
CulGa Gsrh&s&suulLspnseice g sflurearg/sflurearg?
(A) 1only
1 b EW
(B) 2only
2 wL (W
(C) Both1and2
1 wHmw 2
(D) Neither 1nor 2
@reawrhHn Qdene
(E) Answer not Known
llenL Qg flwellcenc
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3. Consider the following statement with reference to None of the Above (NOTA):
NOTA upil Demeu@md Msemasenws &eueflu]m ser
1. The votes polled against the NOTA option are counted in total valid voters polled
by the contesting candidates for the purpose of the return of security deposits to
candidates.
CrriLmelmuusdng erdrms udeaunaraunsd@ser Gwrss ClFweLig.uimELD
aunganearyseice sawsSLulp CauluraiseErsE alysbgrens LT STLML
SHmwul Qumeushster Crr&EssHHaTsmausslulLg).
2.Even if the NOTA votes are more than the number of votes polled by any of the
candidates, the candidate who secures the largest number of votes has to be declared
elected.
NOTA auns@aereraupmgid QUHM euns@sefen aanamflsmsanw Nl flswrs
Qbbb Hs aaraflsmsulonar urs@asamert Gumb Geul Limery
CosrnbshssulLsrs blelssliuL. Ceauamr@HL.
Which of the statements given above is/are correct?
CulGa Gsrh&s&suulLspnseice g sflurearg/sflurearg?
(A) 1only
1 wLEW
(B) 2only
2 L H
(C) Both1and2
1 wHmw 2
(D) Neither 1nor 2
@reawrhHn Qdema
(E) Answer not Known
lenL Qg flwellcenc

4. Which of the following have been explicitly mentioned in the Constitution as a ground
for disqualification for being elected as a member of parliament?
Wereupeuaraupiico erg uUMFmEpoern 2 pullery aushHe 565 Qeuurs QniHw
Srflweemwliured GeeflliuemLwnrs sgplul (Herers)
1. Holds any office of profit under the Union or state government.
wsHw wHmbd wrhle raseildar Ep YsTwd CUDEFGWL LS.
2.Undischarged insolvent Punished for preaching and practicing social crimes such
as untouchability, dowry, and Sati.
f& Cureguiled FEULLMmHBSTO gl semen, HMIL & SearLmenw Gumrern
Fpa&EGHDRIsSmerL Nrsndlsssnsrsabd, HoLpanpll LUHSHWUSDHSTS6LD
ST SSLILILLG)
Select the correct answer
sflurer uHevesd CsIH0SHSS6LD:
(A) Anyone
FCs@Ibge)
(B) Anytwo
FCaaid Qrem(
(C) All are correct
Smeansgid sFlwrearenau
(D) All are incorrect
SN F|LD & 6UMTET6n a6
(E) Answer not Known
dlenL Qg flwellcrenc
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S.

Who among the following can enjoy the privileges of the state legislature?
Spsaar_afseic wry wrfle slLweansdarfpliyflenwsamer eaLiellds (pigujb?
1. Governor
<2 @BT
2.Advocate-general of the state
wrhleo Qrflenr Fenwend 6L &S HlEhHT
3.State ministers
LB S enLDFF]TE e
Select the correct answer
sflurer uHevesd CsIH0SHSS6 D
(A) 1and 2 only
1 womwb 2
(B) 3 only
3 wLLEGCW
(C) 2and 3 only
2 wpmd 3 LLEGW
(D) Neither 1nor 2
@reamrhHn Qdene
(E) Answer not Known
enL Q5 flweilcrenc

Consider the following statements with reference to the Leader of the Opposition
(LoP):
aHisEs As semeweauenyll (LOP) updlu Weraumbd Msamssamersd & e6ueflu)miser
1. The office of the Leader of opposition is a constitutional office.
THTSES S smaal] NUMSD TS WMLLULETIHS Y UMSLD.
2.The leader of the largest opposition party having not less than one-tenth seats of
the total strength of the House is recognized as the Leader of in that house.
semulen Qrgs LasSlaTusHed @m UBRSDGEGmpWTs WsLUCUAWL sameeur
THT&EL_8SHmewaurnasnSEs e @H Sleren.
3.The Leader of opposition is also entitled to the salary, allowances, and other
facilities equivalent to that of a cabinet minister.
THiss fssmaamsEGL Fbuerb, Cesr@luaeser wHMD QST
wusdlaEnrs@e@m Callar. amwismsE s 2.
Which of the statements given above is/are correct?
CulGa Gsrh&s&suulLspnseice eg sflurearg/sflurearg?
(A) 2and 3 only
2 wpmwd 3 LLEGW
(B) 1only
1 LLED
(C) 3only
3 wLLEGCW
(D) 1,2and 3
1, 2 womb 3
(E) Answer not Known
dlenL Qg flwellcrenc
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7. The President’s Rule under Article 356 remains valid in a state for the maximum

period of:
51900356 @ar B GuLTEs soeal LA SFHsULEETNEING SO
wrhosHd e LIgWTELWD:
(A) Oneyear
@@ QUBLLD
(B) Two years
Qrear®h =y, 6w H &6
(C) Three years
QPG <y, 60T (b & 6iT
(D) Four years
BTeTE <,60r(h &6
(E) Answer not Known

cenL Qg flweilcrenc

8. Who among the following can participate in the election of the members of the
legislative council of a state?
Spsaar_afseic wry FlLwean Coomea Caisedld LRGCsHSTD?
1. Members of municipalities of the state
wrflogder parrd o miriSenyser
2.Graduates of three years standing and residing within the state
wriosHd eperm au@BLBSaTs audldG UL grflger
3.Members of the legislative assembly of the state
wrhlosder FlLwern 2 miSeryser
Select the incorrect answer
saupren LHamasdCsiHolsH & s ey
(A) Anyone
gCaad e
(B) Anytwo
FCaad @ren(
(C) Allare correct
Smeans g &ifl
(D) All are incorrect
SN FLD & 6UMTET6n a6
(E) Answer not Known

denL Qs flwellcrenc
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9.

10.

Consider the following statements:
NereumLd & en& & 66 s & 6u 6fl U i & 6ir:
1. Governor appoints the judges of the concerned state high court afterconsultation
with the President.
saujeny genrduduer o Consmen Glswg FOUBSLULL wMHeo 2w
BHwery FHuHsener HuwOsSHpmy
2.The appointment, posting and promotion of district judges in a state are made
bythe governor of the state in consultation with the high court.
@@ wrfosdd wreaulL FHudseier Huwernd, ugell 2 wie wrhe o EHHT
2 wf BHwerms gL e, CongenarudcdGomola merarLiLip & erm e
Which of the statements given above is/are correct?
Culao QarhssiulLspnseailed g sflurerg/sflurearg?
(A) 1lonly
1 LR
(B) 2only
2 bl @b
(C) Bothland2
1 wHmw 2
(D) Neither 1nor 2
@reawrhHn Qdene
(E) Answer not Known
denL Qg flwellcene

With reference to the appointment of thechief minister, consider the following
statements:
wsoamwésflen Hlwwerd QerLFurs, KWeraumb HSEMmEHMmeTs &eued |k ser:
1.According to the Constitution of India, aperson must prove his majority in
thelegislative assembly before he isappointed as the Chief Minister.
Qi grflueenwlnter U, @@ BUF el
wpaoamwEsrrsHlullssliuhausn@ ey FlLwearpbumburarawenw Hema5s
Geuam@Ld
2.A person who is not a member of thestate legislature can not be appointed asthe
Chief Minister.
wrfleo FlLwerm 2 mllearyrs Qoors @Imeauamy (PHaEFFTsHwLdSEs
Py
Which of the statements given above is/arecorrect?
Cule GsrhssiulLspnseaice erg sflurearg/sflurearg?
(A) 1lonly
1 LG
(B) 2only
2 wL(HW
(C) Bothland2
1 womwb 2
(D) Neither 1nor 2
@reawrhHn Qdene
(E) Answer not Known
dlenL Qg flwellcrenc
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11.

12.

Who among the following are included inthe electoral college for the election of the
President of India?
Weraumeuameupiled wry QpHu gerrdud Cspizsed sogrfiliien Csisqssns
CerssLiLL_peTeTery
1. The nominated members of both the Houses of Parliament
Brn@EpwearnsHen Q@ Semeusaflen Hlwwer 2 mligeryser
2.The elected members of the legislative assemblies of the states
wrieokgaier #lLliCurameausalarCsihoshssiiulL 2 pliGeryser
3.The elected members of the legislative assemblies of the Union Territories
wealwearrGssriseaiansl L LiGuUremeusaflen Cs5ihosh&sLLLL 2 mlSernyser
Select the correct answer using the code given below.
ECp Qarphssiu@erer @MuilenL L tweru®SH Fllwuner LHamesCsTH6SH &S e Wb.
(A) Anyone
gCsaId @eny)
(B) Anytwo
FCaaid @ren(
(C) All are correct
Smeansgd &il
(D) All are incorrect
S|MEMSFLD & 6IMTETEn a6
(E) Answer not Known
cenL Qg flweilcrenc

With reference to the pardoning power of the Governor given in Article 161, consider
the following statements:
Wfley161e QarpE&siul(erer <y @pmilen wearaflly fesmTrdensls LHME L9 e6meumHLd
NEMESHET & (5SS 0l e (erh IS 6
1. He can pardon a death sentence.
S|GUT LOFEMT S 6UTL 6HENEn LI (L (LD M LOUITSLOGTEN & &  (Lplg-WLD.
2.He can grant pardon to any person convicted of any offense against any lawrelating
to a matter to which the executive power of the State extends.
Srflen HlevpCaupm HFsmrw Flusstiupb @@ aNanuwdg L en QFTLFLemLw
ThSCaunmFLLSHADGL aHrmen ahsCurHESHnSHDETSD FHamr_amer CUbHD
THSCUTBHUBSGWL Seuf WweraflliL GUPEIS (Pigd
Which of the statements given above is/are correct?
CulGa Gsrh&s&suulLspnseice eg sflurearg/sflurearg?
(A) 1lonly
1 L EW
(B) 2only
2 bl @b
(C) Both1land2
1 wHmwb 2
(D) Neither 1nor 2
@reawrhHn Qdene
(E) Answer not Known
dlenL Qg flwellcrenc
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13.

14.

Consider the following statements regarding the President of India:
QHHws Grurssd semoeai Czrfurer Meramd ibl&emsseners s ouefu|miser:
1. He is eligible for re-election for any number of terms.
Sauf assemaen (penp Ceuam@urarmad WarGd CsiFseid
CurligpuilLg@HuyenLweur
2.He is entitled to such emoluments and privileges as may be determined by the
constitution itself.
Sjaufyrfwueenwliy Hfmrwn CFlwssmigw cafuBisea LHNLD FQMESEHE S
S GSHwureareur
3.He is vested with qualified and pocket veto powers.
aUBEG SGSHwurenr wHMWL UTSQS I CLr farrhiser 2 drerer.
Which of the statements given above is/are correct?
CulGa Csrh&s&suulLspnseaice g sflurearg/sflumearg?
(A) 1lonly
1 LG
(B) 1and3only
1 wHombd 3 LLECW
(C) 2and3only
2 wpmd 3 LLEGW
(D) 1,2and3
1, 2 womb 3
(E) Answer not Known
dlenL Qg flwellcrene

Consider the following:
191 66 6 (T 61 69T 6L 1) 61 D) &5 & 61 G U 1B & @i -
Assertion (A): The President of India is an integral part of the Parliament.
sapm (A): @bHwWE GRWIss Femeelf BILTEHLaNSSlen @mESmanhs LGS.
Reason (R): A bill passed by both Houses of Parliament cannot become law without
the President’s assent.
sryenrd (R): prmepwearndder Q@@ SjemeusearmabblenmCeupmLiiL
wEsTsTRaMmHLS @LULSOCLDTLOF L LOTSWLIDTS)
In the context of the statements above, which of these is true?
CuCGa o drer M&smasaflanieararanfiuic, Qeupdlcr erg o erenin?
(A) AandRboth are true, and R is the correct explanation for A
A wpmid R @reavr@hb 2 earenw, Coaid R eerug A §@ sflurer elergsid
(B) A andRboth are true, and R is the NOT the correct explanation for A
A ppmd R @reaw@w o earenw, Co R ererug A @ sfluner elerdsbd
=N )
(C) Aiscorrect,Risincorrect
A sfl, R eretiug seumneng
(D) Aisincorrect, Ris correct
A seapreng, R sflunerg
(E) Answer not Known
dlenL Qg flwellcrenc

GS01-010624 7 www.mntfreeias.com



.‘NPSC - Group - I - Online Test Series

15.

16.

With reference to the Governor of a State, consider the following statements:
@ wrbles ey, @hBHen L Lbdlw &BlLLL 6, a6 L i H & en & & en 6 é & 6u el U] kIS 6
1. He is entitled to such emoluments, allowances and privileges as may be determined
by the President.
i geamdHuSunre SroraflssiiulL HFFmsw safuriger, C&THLILGTGS6
LHDID FRMESEHES &GS UjenL_Weu
2.When he is the governor of two or more states, the emoluments and allowances are
shared by the states in such proportion as determined by the Parliament.
S Qreanm® g J5HG CuHulL wrheorisealer o, ERHITS
Qm&@wlung, eaflumiser wHMD QaTHLLETESET LITTTEHLO6DS SN
Hremssiu’ L flgsdle wrhlomisearmed LSFHg C&mereriiu® &lerner
Which of the statements given above is/are correct?
CulGa Gsr@s&suulLsapnseice g sflurearg/sflurearg?
(A) 1only
1 L EW
(B) 2only
2 wL(HW
(C) Bothland2
1 wHmw 2
(D) Neither 1nor 2
@reamrhHn Qdene
(E) Answer not Known
adenL Q5 flueilcrenc

Consider the following statements:
Nereu(pHLd <& en& & 6 6 & 6l Gufl U i1 & 6T
1. The Election Commission of India is empowered to determine the manner in which
Lok Sabha seats are allotted to each state.
Qrdwu Csige yemenuid gealCeunm wrhaosHHELbes sslLUL HETErDsSemeamal
QLrseappapow Fiorallss Hsrrn CuhmeTerg)
2.The 87th Amendment Act of 2003 provided for the delimitation of constituencies
on the basis of the 1991 census.
2003 b gy emgean87/eugHmsss s 1991 waéser Cgrens &ewrs6lsH LS 6
SgliuenLler Qsr@dlaererevenc Hiewrwid CFwWw eupmSILLL g
Which of the statements given above is/are correct?
CulGa Gsrhs&suul(perer Msanssaice erg/eTencu &ifl7?
(A) 1lonly
1 LG
(B) 2only
2 wL(HW
(C) Bothland2
1 wHmw 2
(D) Neither 1nor 2
@reamrhHn Qdene
(E) Answer not Known
enL Qs flweilcrenc
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17.

18.

Which of the following statements is not correct with respect to the Electoral Bond

Scheme?
Csisedr usdHrmsadLsmal CQumrmsseueny VGeraumd fsamssaice erg
sflureng eoe?
(A) The electoral bonds can be issued in the denomination of ¥1,00,00,000.
Casige ugdlrmser 1,00,00,000 wHiGe eupmsiiLLembd
(B) The electoral bonds can be used for making donations to all registered political
parties.
udle] QeuwlulL mardgy Hrflwed SLASEHSGL HTOsTENL GUPBIS
Coige uFHIHrhsarLwenLHdsLILIL M.
(C) The information furnished by the doner is treated confidential.
BerQarenLwnerfeupriflugsadger rasfwwns &@msLUubLw
(D) Foreign companies can use electoral bond for making donations to political
parties.
Qeuefipri(® Hpeueantiser Hrflwe S EsEHéE Bearbsrean, eflliLsHaETs
Caised LSSHTHems LILILIETLHSSTLD
(E) Answer not Known

alenL Qsflweilcrenc

Who administers the oath of office and secrecy to the Council of Ministers?
S ESFHE GWaln@uUsell Wywremd wHmbw Fafw sruyuGFLraTSams Wy
Q&g eneuliLig
(A) President
G WIs SHenaaul
(B) Prime Minister
Ny SOy
(C) Chief Justice of India
@pHu soamo FHUS
(D) Vice-President
GRWIS Femearwsd MG
(E) Answer not Known

denL Qs flweilcenc
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19.

20.

Which of the following are elected by a system of proportional representation by a
means of the single transferable vote?
Mereuheuameupdled erg eNfgrenrhrdhHssewrmnssmip @bhedn aurEE WPen
wreCainesMss LS ng”?
1. Members of Lok Sabha
wE&EsaTenel 2 M6y ser
2.Members of Rajya Sabha
wrhloisaene 2 mleryser
3.Members of the state legislative council
wrfleo #lL Gooeme 2 mLiSeryser
4.Vice-President of India
GYWIS FMawsd MG
Select the correct answer using the code given below.
ECy QarRssLulRerer @M enL U LweaTu@S S sflwuner ueanesCsIH0SH &SaLb.
(A) Anytwo
gCaad Qreamh
(B) Any three
gCHaEID epery)
(C) All are correct
Smeansgid sflurarenal
(D) All are incorrect
SMETSGILD & 6UMITETen 6
(E) Answer not Known
cenL Qg flueilcenc

Consider the following statements regarding qualifications for a person to be chosen
as a member of the Parliament:
urgrepwern o mufearrrs @@ Burts GCsie OCsuwlu@eausHETar &GS s6r
Qargurer MerauHL MEMSSMETS &6l 6| EIS 6T
1. Candidates contesting an election to the Rajya Sabha from a particular state should
be an elector in that particular state.
@@ SHUALL wrilosdHed Qmbg wrheotsamaus® Casisalce Curiigui@md
Caullurerjser @HUNNLL wrflosHed eursasmeayns @mss Ceuemmr@Lb.
2.A person of scheduled castes or scheduled tribes can contest from a seatnotreserved
for them.
ulguwell il grflaser g UL igwel LulL LIpkiE g ud ey
SAUTSEHEHETS @FSSIULTS QLSS Cumliiguieomd
Which of the statements given above is/are correct?
CulGa Gsrh&s&suulLspnseice g sflurarg/sflureang?
(A) 1lonly
1 LLED
(B) 2only
2 L HW
(C) Both1land2
1 wHmwb 2
(D) Neither 1nor 2
@rar@n @dme
(E) Answer not Known
enL Q5 flwellcrenc
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21. Which of the following bills lapses on the dissolution of the Lok Sabha?
wEsaemasmassLLLlL o Weatau@mbd wGesrgrssaien g sromaudlwundng?

1. A bill passed by the Lok Sabha but pending in the Rajya Sabha
wésamamauuloBleannCaupnliulL. g eame wrhlomsaaeauller Heemeauller o drer
wGFrHm

2.A bill passed by both houses but pending the assent of the President
Qm Smasafigin HapGCauppliiulL wCsrgmr, Guursasd seneeuifler
RULSNEETSE Hlayameuuiler 2 ererg)

3.A bill pending in the Rajya Sabha but not passed by the Lok Sabha
wrhorsaeanaiuie Haemeuise o drer wCsTsT Haimeuuie o 6rer WGaFTSHT,
wésaremaiuiied HeanCoupmLliLiLeldenc

Select the correct answer using the code given below.

ECp Qarphssiiu_@erer @MuilenL L twearu@SH Fflwner LHamesCsTH6SH &S aWb.

(A) 1lonly

1 LLEb
(B) 2and3only

2 wpmd 3 LLEGW
(C) 3only

3 wLEGCW
(D) 1and3only

1 wHomb 3 wLLECW

(E) Answer not Known

denL Qg flwellcene

22. Who administers the oath of office to the governor of a state?
@@ LIHe Y EFHEMSGUSeIL Nywrard OQFwWg eeuliueuy wmy?
(A) President
G WIE SHeneauly
(B) Chief Justice of India
BpHu soamo FHUS
(C) Chiefjustice of the concerned state high court
soupsiulL wrflo 2w BHwansHear smeeno BHLS
(D) Vice-President
GGWISHMETS &6neoeUT
(E) Answer not Known

dlenL Qg flwellcenc
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23.

24.

Consider the following statements with reference to parliamentary proceedings in
India:
@pdu  umprEpwery BLalgdmssanearl  UpPH  Gameumd  Msmasamens
& 6u erll W 1 & 6iTs
1. The Attorney General of India has the right to speak and take partin the proceedings
of either house or any joint sitting of both houses.
Qpdu rflenr samomw PSENEHSSRMH Smausafilen wie|saflebd
g sl B wieler GCurgbubE QUNMsHEGW,CusuZHGL LBIEG
CQumeausHGL 2 flend 2 ar@®
2.A minister, who is not a member of either house, cannot participate in the
proceedings of any house.
Qm Smasafigib 2 pliGamrs Qoors @@ JMLEST, THS N6
BLalgsamssaflaid unGCasns puwrg)
Which of the statements given above is/are correct?
Culao QarhssiulL gpmseie erg sflurearg/sflunerg?
(A) 1lonly
1 LLEb
(B) 2only
2 wL(HW
(C) Bothland2
1 oMb 2@ rer@HLb
(D) Neither 1nor 2
rglajb Qoene
(E) Answer not Known
adenL Q5 fluieilcrenc

With reference to the Vice President, consider the following statements:
Gl WIEZmenrs s eameeuenyLl LM @MU 6, 966 HLd il & en & & 6n e & & 6u 6rfl U 1 & 6t
1. The electoral college for his election does not include the members of the state
legislative assemblies.
Saurg Csisaussrar Csise soamflulleor wrileo L uCurameie mliGeryser
CerssLiLLafleene
2.A formal impeachment is not required for his removal.
ey fE@ausHNG wapwurear GonFsmih Czeneuullcdenc.
Which of the statements given above is/arecorrect?
CulGa Gsrhs&suul(perer Msamnssaflce erg/erencu &ifl7?
(A) 1lonly
1 LG
(B) 2only
2 bl @b
(C) Both1land2
1 wpmbd 2@rer@HLb
(D) Neither 1nor 2
Tgajd Qoene
(E) Answer not Known
dlenL Qg flwellcrenc
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25. With reference to the Council of Ministers,consider the following statements:
MW ESTHET G(pemaull LpHw Gl L6, MeTeu@hd HNSnESmens &6 u|biser:
1. They are collectively responsible to the Lok Sabha and the Rajya sabha.

SUTSHET W&SeTemaUHMD WrHloRisamemedal L s Qurmiy.
2.There is no legal responsibility of a minister as per the constitution.
Srflweemwlieary mwFFMmEE FULULTe Gurmily @deane.
3.1tis the duty of every minister to stand by cabinet decisions and support them both
within and outside the Parliament.
DM ESTME (PReSEH&EES USSUOWLIS HHug WwHMWD UTFTEswernsSH&
2 atGeruyd GeueflCuud oy sreuaflling geabeurm enwésfler sLmLWNEGLD.
Which of the statements given above is/are correct?
Cule QsrhssuulL smpmseied g sflwrerg/sflwunerg?
(A) 3only
3 wLLEGCW
(B) 2and3only
2 wpmd 3 LLEGW
(C) 1,2and3
1, 2 wpmbd 3
(D) 1and3only
1 wHomb 3 L EGCL
(E) Answer not Known
lenL Qg flwellenc

26. With reference to the Council of Ministers, consider the following statements:
MW ESTHET Gpemeull LD, Nemau@md & ens s eners s e eflu|miser:
1. A person who is not a member of either House of Parliament can not beappointed as
a minister.
BrLmepwearmsder Q@ emausailgd 2 mlilarrs Qaorg @meu
Senw&errs HwblssluLwrlLry
2.President can appoint only those persons as ministers who are recommended bythe
prime minister.
Yrswrred uflbgenrssiuBL pufseaner LLHGCL GL4Wrs Smeeur
S &sFsarns HwdEs igujd
Which of the statements given above is/are correct?
Culao QarhssiulLspnseailed g sflurerg/sflurearg?
(A) 1lonly
1 LLEb
(B) 2only
2 wL(HW
(C) Bothland2
1 wpmbd 2@rer@Hb
(D) Neither 1nor 2
rglajb Qoeme
(E) Answer not Known
enL Q5 flwellcrenc
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27. Which of the following acts of parliament provides for the preparation and revision
of electoral rolls for the purpose of elections to the House of People?

ereu@hld LMFTEHLEDEF FULBEiS6alw woHsameu Coiss@ eurdsmery L igWwie
surflluuspeLd GigasHEL phedng?
(A) Representation of the People Act, 1950
wasear Krdhdsgeu siLw, 1950
(B) Representation of the People Act, 1951
w&sear KUrdhdsgeu s, 1951
(C) Parliament (Prevention ofDisqualification) Act, 1959
unpr@sLeapd (5&H Bésd sHLUY) s, 1959
(D) Presidential and Vice-Presidentialelections Act, 1952
GGWrs Smeeuf LHNID G4Wrs Gamarnd FamaafCsised FUL b, 1952
(E) Answer not Known
den Qg flwellcene

28. With reference to the Departmentally Related Standing Committees (DRSCs),
consider the following statements:
gempsrins Haoos@guwssear (DRSCs) updlu @hliyier, NGeraumbd ibéensser
sMSSlev ©l& mei(em L& 6
1. Presently, 24 Standing Committees are in existence.
sHCungl, 24 HlenewsE(WaseT 2 6Terer.
2.Each standing Committee consists of 31 members (10 from Lok Sabha and 21 from
Rajya Sabha).
@alarm Haoos@uweb 3leplufaisameasd Qararherersg (L0&sereneiuilc
@mbz 10 womibd wrhleokisaraauulladmbg 21).
3.A minister cannot be a member of any Standing Committee.
R SMWEF] Thy Hews@weld e mulamms QMHEs (WPigwrg.
4.The tenure of the standing committees is 5 years.
Hemas@wsselear LgallsstTad 5 o ar@Hser.
Which of the statements given above is/are correct?
CulGa Gsr@s&suulLsapnseilce g sflurearg/sflurearg?
(A) Anytwo
gCasab @rer®
(B) Any three
gCs@Ib epeny)
(C) All are correct
Smeansgd sflwrearena
(D) All are incorrect
SIMETSFILD & 6UMDITETEn a6
(E) Answer not Known
cenL Qg flweilcrenc
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29. Consider the following statements about difference between Public Bill and Private

Bill in the Parliament:
Qurg wCsrgralp@bsaipuFLCersrealn@bedrer Coaumur® uddw Neweu(mLDd
| M & 60 & & 60 611 & & 6l Gufl W 181 & 6iT
1. Introduction of a Private member’s Bill in the house requires one month’s notice,
whereas Public Bill requires only seven days’ notice.
urgrepwerndde CurgwCergrana MNWSULOSS @@ LIS STOL HEUSTEFLD
Csemeu 965 swwb gaflpuy wWCsTsTallD@ 7 Briser WLHGWL HeusTsd
Csemau
2.A Public Bill can be introduced and discussed on any day, a Private Bill can only be
introduced and discussed on Fridays
@@ Qurg wCsrgrene erHy Breflgd HHWsLLBGSS Neurdés pigub,
@msaipuy wCsrsm QeudraflsSpeamwaafaowl GCL YMwsliuGssLiul Heleurs)
X ANIRI(\[h)
3.The Public Bill can propose a Constitutional Amendment, but the Private Bill
cannot do this.
Qurg wCsrsr Hrflwewawliyd([HSssms WO TOWIMNLD, ) 6mTe
saflpuFCargr QEwiw pgwrs)
Which of the above statement(s) is/are correct?
CwCGe o drer sapmsafics erg sflureng?
(A) 1lonly
1 LLEb
(B) 1and2only
1 wHmb 2 L ECW
(C) 2and3only
2 wpmd 3 LLEGW
(D) 1,2and3
1, 2 wpmwb 3
(E) Answer not Known
denL Qg flweillcoene

30. The report of Public Accounts Committee is presented to the:
Qurgisseans@s Gueler Msmsurfld peremeussliLBEnsg:
(A) Prime Minister
Yy sl
(B) Finance Minister
& emwé&sy
(C) President
G WIE SHeneauly
(D) Lok Sabha
LD & & GIT 61 6L
(E) Answer not Known
enL Q5 flwellcrenc
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31. Consider the following statements about the Parliament and State Legislature:
LITT(@H Lo Grm LD Lo miLd omBled &L L_oermLd Lih ilw 19 66 (LD 4 i & 60 & & 6 61 & & 6 6l U 1 & 6t
1. The President cannot return a Money Bill for reconsideration that has been duly
passed both by the Parliament and State Legislature.
UrpmEpLernd WwHmD wrhle FULweamd Qreamigbd WPeHwns
ReopCauppliulL wepwrs uUew wGFTgTeneu LHURFVMMESTS GLWTEHS
semaeuf HmUL el (1Pplguirg)
2.Both the Houses of the Parliament and State Legislature (where Legislative Council
exists) have been provided equal powers with respect to passage of ordinary Bill.
urgrEperpd wHmb wrhle FlLweansdear Q@ mausEpb (rmGs
slLearpbseeanfled o erergl) snsryenr wCargreneas HlenpCoupmeug Csrfurs
g0 feTrmser eupmISLILL ([HeTere.
3.There is no provision for joint sitting of the State Legislative Assembly and State
legislative Council, unlike Lok Sabha and Rajya Sabha.

w&setenel HMD wrhorisaae Guraaarwe,wrhle FlL Cooemal, wrhos
LLCuremey sl (hd sl LSHDG aThd gouUThHL Qdeame
Which of the above statements are correct?
Copaear_ sapmaseflcer erg sflwmerg?
(A) 1and2only
1 wHomb 2 wECW
(B) 2and3only
2 wpmd 3 LLEGW
(C) 1and3only
1 wHomb 3 wLECW
(D) 1,2and3
1, 2 wpmwb 3
(E) Answer not Known

denL Q5Flwellcrenc

32. Consider the following statements regarding the adjournment motion of Parliament:
LITTTEH L6 @& HenauliL SFomerid Cl& mfuimer L9 66 (L 4 i & 6n & & 6 6T & & 6u 6l U 1 & 6i:
1.It needs the support of 50 members to be admitted.
gddamailiy Sjwreard J@wHssLu@ausnE 50 epllaryseafler o s5rey
Capemaeu.
2.The minimum duration of discussion on an adjournment motion should not be less
than two hours and thirty minutes.
@ddomaliy Sorasden Wgmen Naunssdenr GOPHILULEF ST eTe] Qrem®
wenfl WpUuug HOLRSEREE Coogampeans QMméEssEamLng)
3.1t can raise a question of privilege.

g fpluyfleod updlu Caereflenws erpLliLiembd.
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4.1tis not allowed in the Rajya Sabha.

wriobsomautller amiwd Qeoene.

Which of the statements given above is/are correct?
CulGe Gsr@s&siulLspnseaice erg sflurearg/sflurearg?
(A) 1and 4 only

1 wHmb 4 wECw
(B) 1,2and 4 only

1, 2 wpmb 4 wLEGCW
(C) 2,3 and 4 only

2, 3 wpmbd 4 W HGCW
(D) 1and3only

1 wHomb 3 wLECW
(E) Answer not Known

denL Qs flweilcrenc

33. It can be moved against an individual minister, a group of ministers as well as the
entire council of ministers. It means an expression of strong disapproval or harsh
criticism. It can be moved in the lower house of the parliament or in a state assembly
in India. Which of the following motions is described in the paragraph given above?
Qs @nm sAAlUULL HMLEF], MWFFTHET G LHNHID WPPMWLES aTSHrTEHayb
BaFssLLLOTD. Qg e@erear LML oG SHewwrer odlwjFerssen
Qeueflliur@ eremm GQum@er. Qmésrd umprepweandSen Sp Faruulld ooy
@ipdwureiles oeter @@ - wrhle  FlLUCUFmas@LIHPLIULLF. Gl
Qar@sasliulperer LSHule Nemeu@BLd aThHP SFwmend eleufldslLL Hereren?

(A) No-Confidence Motion
B&masulder SFreard

(B) Privilege Motion
ApliyflenwFFomerd

(C) Censure Motion
safldensd Sromenld

(D) Calling Attention Motion
SQUEFFFLIL SFLomerLd

(E) Answer not Known

dlenL Qg flwellcrenc
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34. Which of the following statements is incorrect regarding the Rajya Sabha?

35.

wrhoksaeane CQr_jurs Neraumb Msmssailcdr g Seupmeng?
(A) Itisapermanentbody and not subject to dissolution.
Qs @m Hrbsr Senwlywdnb SoOOULEEG 2L UlLg O
(B) The retiring members are eligible for re- election and renomination any number
of times.
@UeCumb 2 pliGaryser adsamen wenp Ceauamhwrarmad LNHGCsHTsHo
wHnb LHCUWLTGUSHESSESH U L WeuFEeEr.
(C) The Constitution has not fixed the term of office of members of the Rajya Sabha.
Srflweemwliyorhonsaame 2 plbayseiler LseNE sTOSMS
Hirenruilésefldoenen.
(D) Parliament makes provisions to govern the order of retirement of the members
of the Rajya Sabha.
wriomisaamez pUllarjseilen @ue] 2ssrmel <y @HeugsnHsTar HUTbSemer
urgrepwernd & nsg)
(E) Answer not Known
denL Qg flwellcene

Which of the following statements is incorrect regarding No-Confidence Motion?
plsmaslldmr Srorad Gsrjure Marau@pL HMsmaseice ag Seuprearg?
(A) No-Confidence Motion is mentioned in the Constitution under Article 75.

B&maslldnSrwrarbdyrfuaamwiiva75ag9fleder S
GO LUl (ererg).

(B) The Ministry stays in office till they enjoy the confidence of the majority of the
members of the Lok Sabha.

CQupburereny wEsaenel 2 MUlaTfser BHLENGMEMIW D 6ufser
UG auemy JemwFFsd LUFeNulled Q@mEEL

(C) It can be moved only in Lok Sabha and not in Rajya Sabha.
85 wssaamaiuiiedr LLUEGCL Gsrawh eureord wrHorismmauulle e

(D) Itis moved only against the entire Council of Minister and if passed, the Council
of Minister must resign from office.

s W SmwvFsrmausGeadrms LLOCL BEFSSLULGSDS WLHNHILD
BenpCaupplit’L e, Qwrgs emwisraawd ugeleanw grdermor GFww
Geuemr(hLb.

(E) Answer not Known

dlenL Qg flwellcenc
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36. Consider the following statements regarding State Legislative Councils:

wrfleo sl semuser CQgmjurer Keraumb HMEmssamers & el u|miser:

1. The actual strength of the state legislative council is decided by the parliament.
wrfle FlL Cooameauilen 2 arenwmer LIGLD LITFT(EHLO6D S STe)
Srorafl&sLuSng.

2.The maximum strength of the state legislative council is fixed at one-third of total
strength of state legislative assembly.
wrfile #lL Coeamaulear flsuls uabwrfeo FlLuGuramaulleantonss
LegdHe eperdled @@ UmsTs Hiearulssiul Hererg

3.The Governor’s nomination to council can be challenged in court of law.
wrhle sl Cooameauie <y eppfler Huwweard BHwamsHd Feumed
QEwiwiuLeom.

Select the correct statement/s from the code given below:

ECp Qar@ssiulperer GNULIRBEE Fllwurer fsams/samer C5iH6SH\SSaLWD:

(A) 1and2only

1 wHomb 2 wECW

(B) 2and3only

2 wpmd 3 LLEGW
(C) 1and3only

1T wHomib 3 wLLEGCW
(D) 1,2 and 3 only

1,2 wpmib 3 wLGHb
(E) Answer not Known

cenL Qg fluieilcrenc

37. Which of the following statements about State Legislatures is Correct?
wrfle sl wermriger LM Nereumbd ybsmasaenr org Fflwunerg?
(A) In the election to the President, each Member of Legislative Assembly of all the
states has equal value of his/her vote.
samdudssrar Coisadlce, emardg wrbhleoslLwerm 2 S eryserfer
TGS er Fwwmer olienLIG6ls e (b 6rer ey
(B) The Governor nominates certain members to the legislative council based on the
same qualification as that provided for nominated members of Rajya Sabha.
wrhleorigeareneublwwere nlleryseEns@auprislulHerer HCH
5GH3igliumL oo Epni o e pulaiseamer s CoameasdsE Hlwwerd
Qe dlmmy
(C) The maximum and minimum strength of Legislative Assemblies in all the States
is fixed at 500 and 60 respectively for all states.

Smansg wrhlomiseaflaid o arer s wearmriseaiargdasulgs whHmd
GMDHSLULE Lbyamardg wrflomseEps@h wanGu 500 wpmw 60 &
Brerulssliul Hererg.

(D) Parliament can prescribe additional qualifications for the members of the State
Legislative Assembly.
wrflos L LCuremel.e pliGasEpsstar FHs0 &GSSHSmar BHILT(EHLO6TDHLD
uflbgeny&semd
(E) Answer not Known
alenL_ Q& flwelcenen
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38. Which of the following Veto Power is exercised by the President of India?
Kereumd e'hs T1éHH danmrsans Q@HHwu memdHud LwearuBhSHSprF?
1. Absolute Veto
Penwbwrer 555 Sy
2.Qualified Veto
sGHunaTss FSTLd
3.Suspensive Veto
SNETN&ETSH S STy
4.Pocket Veto
slenLlienurd g H&smyb
Select the correct answer from the code given below:
8Cy Qarpssuul@erer GHWULA®mHE Fllurer LSHmasCsib0s 0SS W:
(A) All the correct
Smeans g &ifl
(B) Anytwo
FCaaid Qren(
(C) Any three
TCHaIbd epeny)
(D) All are incorrect
SIMETSGILD & 6UMDITETEn 6
(E) Answer not Known
enL Q5 Flwellcrenc

39. Article 123 of the Constitution empowers the President to promulgate ordinances
Consider the following in this regard.
rsmwlilFslLsdlean123cug Gflay, eusrsslLriseamer Ceaueafllll meamdudss
fanrrd HaflsHngHQ&H FOUBSLNS L6 HLD &S H 0 6\& T 6T (Er, ki & 6T
1. An ordinance made when both the Houses are in session is valid if approved by the
Council of Ministers and Parliament.
Q@ SmasEpbwiated QmEGL Curge HaursslUl L @Ff eusrsd FLL LD,
BTLTEHLO6TNSSTOHMWDEFTHET G WLHMLD LITFTE@HLDSSTOHBES &S
LmeGlF e Ll WG
2.An ordinance cannot be used to amend the constitution.
SrflueamblyssFlLmss5HMmsS50s0E @RF SeusrdslLamsl LuaUbhSS
Plgwimg.
Which of the above is/are correct?
CulGe o dreraupdled erg Fflwimerg?
(A) 1lonly
1 LR
(B) 2only
2 bl @b
(C) Bothland2
1 wHmwb 2
(D) None of the above
Cula agajb Qo
(E) Answer not Known
cenL Qg flweilcrenc
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40. Consider the following statements:

41.

eraumD & en & &en6rd a6 el ki 6
1. Discretionary Powers exercised by the Governor cannot be questioned by the Court.
QEHHEITO LwearURSSLILBL N@pLugSarrhsamearBdivarnssnd Caeredl
Csls (Wpuywrg.
2.The Governor canreturn amoney bill for the reconsideration of the State legislature.
wrfle slLwansdaonuilfvmears@uear wEsTgTameu < EHHT SHwmLa
S|EILILIQTLD
Which of the statements given above is/are correct?
CulGe Gsr@ssiulLspnseie eg sflurearg/sflurearg?
(A) Only1
1 LLECW
(B) Only2
2 L HGw
(C) Both1land2
1 womwb 2
(D) Neither 1nor 2
TFajd Qoene

What powers of the Chief Minister are in relation to the Council of ministers?
SMWESTHET G QBTLIUTS (PSVMDEF(H&E S eTenien HFHSMTRISET 2 creren?
1. He allocates and reshuffles the portfolios among the ministers.
S &siser wHHWNOD Qarsrssamer @&5&S LIHH Henws Hnmy.
2.He brings about the collapse of the council of ministers by resigning from office.
Sjauf ugelenw gredenmon GFUICUSET (MWD HENDFSTMEU &N WLD
3.He communicates to the governor of the state all the decisions of the council of the
ministers.
DM ESTEHET G(pollen TS (PlyeiFemerud euf rHle i @55l Lb
Qs flell& .
4.He announces the government policies on the floor of the house.
Srflen Qararensseneronfleo FULwerns o mellsSpmy.
Which of the statements given above is/are correct?
CulGa Gsr@&s&suulLspnseice g sflurearg/sflurearg?
(A) 1and2only
1T wHmb 2 wLEGCW
(B) 1,2,and 3 only
1, 2 wpmd 3 wLLEGW
(C) 1and 4 only
1 wHomib 4 wLECwW
(D) 1,2,3and 4
1,2, 3 wpmw 4
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42. Which of the following statements is/are correct in reference to the Constitutional
position of the Governor?
Mereu@d fismssailer rflweenwlienus @Ghlluded safeary uvgedl U
SMsanssaflcr erg sfluneang/sflwneng
1. After the 42nd Constitutional Amendment (1976), ministerial advice hasbeen made
binding on the Governor.
42augrflueamwliydmsssHnel KMng (1976), Semwasiser
G, Cargamarsaufary g WenamwliLeuprisliul Herearg
2.The executive power of the state shall be vested in the governor and shall be
exercised by him either directly or through officers subordinate to him.
wrflogder HeanCeaunpm HHeTrwn o EEHILL @UUMLSESLILOW WwHM LD
Qm&s Cauam®b,eurmed CHripwrsleur oG auHeEGs S 2 6rer
Sflarflger epowrsGaurbswuduBsdsLliLi@Lb.
Select the correct answer using codes given below:
ECp Qar@sasiulL @ilusameal vwearL@sd sflurear LfaewsdCsiBHosH & &b
(A) 1Only
1 LLEb
(B) 2Only
2 bl @b
(C) Bothland2
1 womwb 2
(D) Neither1and 2
rglajb Qoeme
(E) Answer not Known

denL Qg flwellcene

43. Which one of the following statements is correct?
Nereu@md sapmsaficr erg sflurearg?
(A) The Chief Election Commissioner of India holds his offce during the pleasure of
President
Qrdussmaamng Caise Y maru) GYurssd saeaflarelmuusgSarGurg
sang uselenw cuSlEHpry
(B) The Governor of a State holds his offce during the pleasure of the President
GLwrsd smeaflaelBuusdaturs @@ wihlogdea ,EBHT Sag
ugsellenw eudl&Hmmy
(C) The Prime Minister can only be removed by a resolution passed by both Houses
of Parliament
BrLmepweamsder Q@M emausailgbflennCoaunppliulLSiorersdder epald
LLHCw Yrsweny F&8 Ppguld
(D) The speaker of the Lok Sabha can be removed at the pleasure of the President
wEsarenealufenr FUTHTWST Gwrsd semeeauflearellplugder GCuifle
B&&LLLemD
(E) Answer not Known
enL Q5 flwellcrenc
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44. In which of the following cases the President of India is not bound by the advice of

the Council of Ministers?
Meraumeuaneupmled eThs olagwsdedr QHHWUE GLWrHS ST MWDEFFTSHET
Gwallen g CansmersdEss _HLubeuddme?
1. The choice of the Prime Minister
Wrswilenr Cziey
2.The dismissal of a Government which refuses to quit, after having lost its majority
in the House of the People
wésaremauuloCumburaenwenw Qwbs K¥NnE, CeualCup wH&ELW
remussmg usel BsaD CQFuigd
3.The allocation of business
STOIEETEE0
4.The dissolution of the House, when appeal to the electorate becomes necessary
aurgsrerjsei wenpui® CQFwieug HeuflwuwrgbGurg, Fmuaml &amad s 6
Choose the correct answer
sfluren alenLenwsCsiH06S (Hk S e6r
(A) 1,2and3
1, 2 wpmwb 3
(B) 1,2and 4
1, 2 wpmw 4
(C) 1,3and 4
1, 3 womwb 4
(D) 2,3and 4
2, 3 womd 4
(E) Answer not Known
enL Q5 flweilerenc

45. select the correct answer

sflurer uHevensd CsIH0SHSS6 LD

List-I List-II
UL 1g-wieo-| UL igwieo-ll
(Articles) (Contents)
(sL@enrser) (2_eTeTL_&&1b)
1. Article 61 1. The President of India
9fley 61 1. @bHw gerrdud
2.Article 54 2. Term of President’s Office
s_(heny 54 2. gammdud eanssHer ST
3.Article 52 3. Impeachment of President
s_(heny 52 3. gamfuduien ugel B&HsD
4.Article 56 4. Election of President
9fley 56 4. geamdudl Csize
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(A) Any one pair
gCaad e
(B) Any two pairs
gCaad Qrem®
(C) Any three pairs
gCaaud epenm
(D) All the pairs are correctly matched
Smandg FFluns QLT b S 6rm e
(E) Answer not Known
denL Qg flwellcrene

46. Consider the following statements:

Nereu(pHLd <& e & & 66 & 6u erfl u i & 6T

1.If a Bill other than Money Bill is returned by the President for reconsideration
of the Houses and the Bill is again passed by both the Houses of Parliament with
or without amendments and again presented to the President, then also it is not
obligatory upon him to declare his assent to it.
vewr wGsTHTemeud Hally Coum @@ WLEFTFTME GLYWIHS FHmeeT
SmausapLilfomer QFliaugnasrs HmUl yalileanmd, b wWEFTHT
Beawr@H BrLTEpLernSHer Q@ SeneuseanTa b ([HsHEsEHLCarm ooy
QaoorwCarfleanCGauppliul@® War@w @4Wras
semaaufl_bFLFUNGSLIULLI®, SDG SaH RLULSM® Heiss
Geuear(hiLd 6T 6T )& L LMLl cdem cv.

2.A Bill for the purpose of formation of new States and alteration of areas, boundaries
or names of existing States can be introduced in either House of Parliament and no
recommendation of the President is required for the introduction of such a Bill.
HHw wrheokigmere (Heurs@GasHGw, LUGSHS6r, aoamsear Hoag Q@méEL0
wrflokisefler QUWisemeTOMHNMSHGL @@ WEFTGTEMBTLTERW6TDSSHen @
Smasaflgd HMPsLILHSSOTD LHNLD SSSmsWLCETSTMUINWSILGS
FausHNe Ghwursad seaeaflear uflbgienr Cseneaiuloenc.

Which of the statement(s) given above is/are correct?
Cula Qar@&ssiul_(erer spnseafic erg sflurearg?
(A) Only1
1 wLHGCW
(B) Only2
2 wHGw
(C) Bothland2
1 wHmw 2
(D) Neither 1nor 2
T Qene
(E) Answer not Known
denL Qg flwellcrene
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47. If any functionary under our constitution is to be compared with the US President,

he is the Prime Minister and not the President of the Union”. This statement is
attributed to:
Bg rflueawlfear P absd @@ QTGS S mLcrglia
Couanr(homenmed, Aygwy earMusler Gwrs: Smoall o .
(A) Jawaharlal Nehru
seauanjeored G
(B) B.R.Ambedkar
9.7 bCussy
(C) Rajendra Prasad
rrCgnArirsens
(D) K.M.Munshi
Cs.erb. (pemasdl
(E) Answer not Known

cenL Qgflweilcrenc

48. Which of the following is/are incorrect regarding the powers of the PM of India?
@iHwull Grswfler Hsrriiser Qarjurs Nera@meuaraunded 6T Feupmeng)?
1. PM allocates portfolios among the ministers.

sl SMDFFTSHEHSGQPONETSSMET @515 SSH DT,
2.PM announces government policies on the floor of the House.
SrFmasstsrdaensseamer Mrswy gemuuiled ydlelsSHpmy.
3.He cannot advise the President to dismiss a minister in case of difference of opinion.
smag Coaupgurh gHulLrd HemwFsay ugel Fssb Qewuiw gamdHudss
Sjaf g Corgemear som (PlgWTg.
(A) Anyone
gCsaId @eny)
(B) Anytwo
gCaab e
(C) All the statements are correct
SmenS g & ens s EnLEFlwrearen e
(D) All the statements are incorrect
SMENSG )& 6N &S @ LD S 6U DT ETen 6
(E) Answer not Known

cenL Qg flweilcrenc
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49. Which of the followingis/are correct regarding the PRIME MINISTER OFFICE [PMO]

50.

of India?
@rdwureler Nyzswy Seasb[PMO] Qasrjurs Meremeuareunmed erg Ffluimengi/
sflureng)?
1. The PMO is headed by the cabinet secretary
Nrswi JPUSD JnwEsTamel CFWTETITD FHmaam HMhsLILGS DS
2.1t got the status of department under Allocation of Business rules 1961.
SVauwagHsE0 fsa196lear Sp Q& Fmpuiaibsavans QUDDF.
3.itis accorded as constitutional body.
83 rfluaamblil JomwluUTs HREsASSILL [HeTerg).
(A) Anyone
gCsaIbd @emy)
(B) Anytwo
gCaaid Qren(
(C) Any three
gCHaIDd epery)
(D) All the statements are incorrect
M S G & 6N S S (@EHLD S 6U DT 6T en 6l
(E) Answer not Known
dlenL Qg flwellcenc

select the correct pairs

Coib0S 0 &8 ey
List-I List-1I
UL g wie-| UL g wieo-||

(Pardoning Power of President) (Implications)
(gerrdluduien weraflliL smyd) (BM& &5 &elT)

1. Commutation Substitution of one form of punishment for a
lighter form
ufllorhmLd RO Qo@ara allauddnE SenrLenerudler
@@ QligeuSeng LOMHMISD

2.Reprieve Awarding a lesser sentence in place of one
originally awarded.
flleneu WPPHND UPBSILLL FHaTLmarés@ Udlons
GODAUTET ST ENETENW GULDMIG SE.

3.Remission Stay of the execution of a sentence for a
temporary period
15l eurmy ewrid R@M S5NETNS sTVSHIHNE HaTLenerenul
HeopCGaupmieuens Hmssise

4.Respite Reducing the period of sentence without
changing its character
@PWa] UTSSWSHen STOSMG S 6

SETENLOEMWILOTHMIOND &M S S
(A) Any one pair
gCsad @B Gz
(B) Any two pair
FCsamib @Qraw® Cgmg
(C) Allthe pairs are correctly matched
SemanS gl CgmyseEpw sflunrsl Quimmbg) S erner
(D) Allthe palrs are incorrectly matched
Smeansg Cxmg&Epd Seunmsl Qummba) & e e
(E) Answer not Known
alenL Ggflwaelcene
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51. Consider the following statements:
NereumLd & en& & 66 s & 6u 6fl U i & 6ir:
1. The Constitution of India provides that the Vice-President of India shall be the ex-
offcio Chairman of the house of people
Qrdu grilueemwlys L, QU Famars GLYWrsHs S FHamoall,
wésamemauuler e eaud afismaaurts QMmsEs Couar®b erearm FmmEng.
2.The Constitution of India has not fxed any emoluments for the Vice-President of
India in that capacity.
Qrdu rfluemwliy HHss sGSHUe QU Famars Ghwrss
SMOGUHSG eTHFelswren ealuwipbeuprisLLLeldena.
Which of the statements given above is/are correct?
CulGa Qsmr@ssuulLsgpmseaice g sflurearg/sflurearg?
(A) Only1
1 LLED
(B) Only2
2 L HW
(C) Bothland2
1 womw 2
(D) Neither 1nor 2
rglajb Qoeme
(E) Answer not Known
cenL Qg flweilcrenco

52. With reference to the sessions of theParliament, consider the following statements:
UTTT@EHLETD Hwiejsenertl Uundlu @GollyLer, Nereu@heaiareuhennsd & eu e wmbiser
1. Three sessions of the Lok Sabha are normally held in a year, but it has not been

defined in the Constitution.
Qurgleuns @@ au@mLSIlowssareanciulen eperm jFelSHer Henl GLmd,
QMO F TS weenbLilslereuenyw mié e LLIL6dlcen e
2.Prorogation means the termination of a Session of the House and is done by an
order of the Speaker or the Chairman.
SMmaIenl (P45 MAUSSHOETETLG @) Fmel (PIgLILGISSFUTHTWS]T
SORg Smaaurmd GEsuwliu@GSng
3.0n adjournment of the Lok Sabha or on its adjournment sine die, the pending
business does not lapse.
R5Hmauss0Csdl GHMUNLTDG wasammel @fHflamaussiLGLCuUTg s e
Qe ThHy Ngs5HQd UTHEsTg)
Which of the statements given above is/are correct?
CulGa Gsrh&s&suulLspnseice g sflurearg/sflureang?
(A) 1and3only
1 wHombd 3 LLECW
(B) 2and3only
2 wpmwd 3 LLEGW
(C) 2only
2 L HGw
(D) None of the above.
CulGa ergiajd Qe
(E) Answer not Known
enL Q5 flwellcrenc
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53.

54.

Which of the following is/are included in provisions relating to “second schedule” of
the Indian Constitution?
Qidw  grflueamwliler “‘@reawLreug L Leuemenr Qgrfurer elflsafled
Nemeumeuameupdler erg Cerssliul_(pererg)?
1. Deputy chairman of Rajya sabha.
rHlokiIsemamagmeaTd Hemeaaur.
2.Judges of the High Court.
2 wi BHwery BHudser.
3.Comptroller and Auditor general of India.
@rdHwunelenr Fenewend &ewrd@ssenflEamswmary.
4.Attorney general of India.
@idHwurelenr Fenewend 6uLpd s MHEh T
Select the correct answer
sflurer LS sCsTH0S0H &S 6|b
(A) 1and3only
1 wHomb 3 L ECwW
(B) 1,3 and 4 only
1, 3 wpmb 4 wECW
(C) 1,2and3only
1, 2 wpmb 3 wLECW
(D) 1,2,3and 4
1, 2, 3 wpmwb 4
(E) Answer not Known
clenL Qg flweilcenc

With reference to the Indian polity, Consider the following statements:
QiHw rfluemes updl, Neraumd o Hl&emns s emens s cleflumiser:
1. The parliamentary system of India is largely based on the British parliamentary
system.
@ndwnellenr BrLmEhwern Henwli Qu@@bUTad Nfliliged BHILMEHLe6TD
pepen igliLenLwingsd Clasmeur_g|.
2.The parliamentary system of India is based on the doctrine of sovereignty of
parliament.
@idHwureller LTTTEHLEID HeNOLIL LITFTEHL6TDSSH 6 & enmwimereniod
Camlumligen gliLenLulled enobgieTers).
3.InIndia, the head of state is elected while in Britain the head of state is monarchical.
@rndunele, s semaay Csin0sOssLLGEpTy, Gl aldgrs sanoaeur
Plgwr .
Which of the statements given above is/ are correct?
Cula Qarh&ssiul_@erer sgmpnseaic erg sFflurearg?
(A) 1and3only
1 wHomb 3 L ECwW
(B) 1lonly
1 wLEW
(C) 1,2and3
1, 2 wHpmb 3
(D) 3only
3 wLLHGCwW
(E) Answer not Known
dlenL Qg flwellcene
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55. In which of the following judgments the Supreme Court ruled that the “constituent
power of Parliament under Article 368 does not enable it to alter the basic structure
of the Constitution” ?

Wemaumd eThadeupsddloz Fsfdoapmbyriumamwifer Wiley 368 Qe S
urgrepwernd HrfluoawlifearggliueamL. sLLamwliamu wrHpw CFlw Ppiguwrg
ererm Srliuefls s ?
(A) Minerva Mills Case
lerjeuridleoen 6upsG
(B) Kesavananda Bharati Case
Caraunarps UMTTS &S
(C) S.RBommai case
eTen. < QUL aUP&ES
(D) Indra Sawhney case
@ndrrercuall aus@
(E) Answer not Known
denL Qg flwellcrene

56. Consider the following statements with reference to the Constitutional amendment
and the role of state legislature:
Srfueemwliys SHmssd wHmb  wrhe  FlLwansHaTUrImss  GDLIENEW
ereu@ld MSensHamers & eualu]n & e
1. The state legislatures can initiate a bill or proposal for amending the Constitution
in respect of fundamental rights.
wrfle FLLeampEiser gl 2 flenwser Qsr_iurs rfuoewlienyL
Hmsgeusnaren wCasrgr oag Warbwnflanesd ST EISQTD
2.0nly in a few cases, when the consent of the state legislatures is required, then the
consent of only half of them is sufficient to pass the constitutional amendment bill.
Ao sHhsluUBISeld WL HCW, wrhle FlLwearmrsailenm QLILgS®
Cyamauiu@wCurg, rflwe L5 Hmss wCsrgrama HleapCaubm
Sjauisafices urd wrhleomselsr @lLsd WLEECL Curgwrearg.
3.The Constitution prescribes the time frame of 6 months within which the state
legislatures should ratify or reject an amendment submitted to them.
Srflweemwliysd UL 6 LrFRIsERs@GE LMHle FLLLDANRISE FHhISEHSS
soFUSsIULL @@ HHS5ssans nssfss Cauarhb oag Hrmsfss
Gauar(HLD.
Which of the statements given above is/are incorrect?
Cule Gsrhs&siiul(perer Msanasailce erg/aencugaprearg
(A) 1lonly
1 L EW
(B) 3only
3 wLLEGCW
(C) 1and2only
1T wHmib 2 wLEGCW
(D) 1and3only
1 wHomb 3 wLECW
(E) Answer not Known
dlenL Qg flwellcrenc
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57. Consider the following statements with reference to the union of India:

Qs gadlusmst unpHw e & ens s e e s s euefu|biser:

1. The Indian Federation is the result of an agreement among the states.
QiHw sl Lenwliy ererug wrhomsEprsE Qe Cuwrer @UubS S 6n
lleneTeum@Lb.

2.The Indian federation is an Union because it is indestructible.

QrHw sl Lenwliy @meeardub, gblaraled g HPHwrss.

3.The country is an integral whole and divided into different states only for the
convenience of administration
BT® @@ @MmEdaarhs wwenw wHnwb Hiurs ausdssrs wLHGW
CeucuGaum wrhleorisearns Nf&sLUL Herers)

Which of the statements given above is/are correct?

CulGe Gsr@ssiuulLspnseaice erg sflurearg/sflurearg?

(A) 1and2only

1T wHmb 2 w ECw
(B) 2and 3 only

2 wpmd 3 LLEGW
(C) 1and3only

1 wHomb 3 LLECW
(D) 1,2and3

1, 2 womb 3
(E) Answer not Known

denL Q5 flueilcrenc

58. Consider the following statements regarding the State legislature:
wrhle slLwearpbd QrLfurer NeraumDd iMlsen s s emend s euet |k g er:
1. Participation in the election of the president.
Glwrad sameauiGCsisadle LBIGCsHLS.
2.Ratification of a constitutional amendment bill.
Srflweeawliy HHss wCsrsrelem HBRISSTYLD.
3.Enlargement of jurisdiction of the state public service commission.
wrfleo veflureryCsreurenamwsdenr fany aupbwenu lfleyuB HFH S 60.
4.Approval of ordinances issued by the governor.
saufeny KWMpliNgs rsrtanams@hsd@ @LUILS®.
In which of the above statements does the State legislative council have equal powers
to that of the state legislative assembly?
CopeiulblL fsmssaicd g wrhosL CoamasEh FlLUGCUTmeusELWD
SOOI HHSTTEISET 2 6Teme
(A) 2and3only
2 wpmd 3 LLEGW
(B) 3and4only
3 wHmbd 4 WLHGW
(C) 1and 4 only
1 wHmibd 4 wLLECW
(D) 2,3 and 4 only
2, 3 wpmbd 4 W HGCwW
(E) Answer not Known
cenL Qg flweilcrenc
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59. With reference to abolition or creation of Legislative Councils in states, consider the
following statements:
wrfokgseile slLwanssaaflosmearglilliLg owg o (HaursGeug UDHw
G@MluyLen, emeu@md MSmssanerd & oued b ser:

1. For it, a resolution of request to Parliament must be passed by the state legislative
assembly by a majority of the members present and voting.

B0DG, BrLn@EpweansHDGCanflsanassd Srwnard wrhle FLLGurameauuic
sohg Caranr® eaurssals@b Gu@bureareny 2 mlilearfsearmaobleannCGoaubmrii
Gauar(HLD.

2. For it, the Parliament must pass an Act by a majority of the total membership of
both the houses and a majority of not less than two-thirds of the members of both
the houses present and voting.
3BNG, QM Smasaien CQwrss o mulearfseiler GU@mLUTEmEL WHMILD QW
Semausaflenr 2 mrlerjsefldependce Qream® LERSDESSEGamDWTEClLHLUTETENLD
W6 BILTEHLEDD @@ FLLSms HlapCounpm Ceusmr@®bd.

3. Forit, the Act of Parliamentis not deemed as an amendment to the Constitution for
the purposes of Article 368.
SBDG,urrrepwernsd gL bAflellen368eugirfdwmenwlifear SHmszwons
SHPLILLalene.

Which of the statements given above is/are correct?

CulGa Qsrh&s&suulLspnsaie g sflurarg/sflwmeng?

(A) 1and2only
1 wHomb 2 w ECw
(B) 2 only.
2 wLHGw
(C) 3only
3 wLLEGCW
(D) 1,2and3
1, 2 womb 3
(E) Answer not Known
dlenL Qg flwellcrene

60. Consider the following functional Cabinet Committees:
Nereumd QEFWUITL ()N EETEN 6US G (L & 560 61 & & 6U 6| | I & 6T
1. Cabinet committee on accommodation
SEIGUILSHDETIHMDEFTMUS G (LD
2.Cabinet committee on Investment and growth
WSS® wHMID eueTFFHEETMDMDEFTMUS & (D
3.Cabinet committee on Employment and skill development
Cauenaeumiiyy wHmid Hmer CLLUTLHESTATHMDEFTMUS & (LD
4.Cabinet committee on Parliamentary affairs
I5ITL_IT(@TH LD 68T ) 6Nl U S T 1 & (615 & & T H N FFTEMGUS (G (LD
5.Appointment committee of the Cabinet.
S &srenaiflenblens @ (W.
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61.

62.

Which of the following committees are headed by the Prime minister?
Nemeu@md aThssGWeser Nrswiler senewenuller 2 creren?
(A) 1,2 and3only
1, 2 wpmd 3 LLEGW
(B) 2,3and 4 only
2, 3 wpmbd 4 WL HGCwW
(C) 2,3,and 5 only
2, 3 wpmd 5 wWLHGW
(D) 3,4 and5only
3, 4 wpmd 5 WL HGCW
(E) Answer not Known
cenL Qgflweilcrenc

Which of the following statements is incorrect regarding the Rajya Sabha?
wrioksamamabsr_iurs Weateu@mb fsamasailce g sauprearg?
(A) Itisapermanent body and not subject to dissolution.
Qs @m Hrbsr SewlywHnLD SmOLLSG 2L ULLg How.
(B) The retiring members are eligible for re-election and renomination any number
of times.
@ueCumd 2 plivNerser adsamen wenp Couamhwrarmad LWNHCsHTsHo
wHnb LHCUWLTGSDHESES U DL W6UFEEr.
(C) The Constitution has not fixed the term of office of members of the Rajya Sabha.
wrilotsaame e pUlaiseafer L els srwiams rflweoenolil HiFewrwid
Qewiweleene.
(D) Parliament makes provisions to govern the order of retirement of the members
of the Rajya Sabha.
wrflersamea pulaisaier @uiey 255Tmeu QY E@HUSHETAT FHUTHEmer
I TL_IT (@15 Lo 6010 LD Gl &1 6l 3.
(E) Answer not Known
denL Qgflweileenc

Which of the following statements about theMoney Bill is incorrect?
vewr wGersT uNHlw Keraumd MEamssaflcr erg Seupmeng?
(A) When a Money Bill is presented to the governor, he may withhold his assent to
the bill.
@ppflb uear wCsrsT sLFUNGSLILLLT®, auf LECETETNES Sarg)
@uUUs@®S Bnsseomd.
(B) The President cannot return the bill for reconsideration of the Houses.
Gwrad sameaf woUflfomear QFlaushaTsLECITSTmaus UL
S| @ILILIPIGWITG).
(C) The decision of the Speaker of assembly whethera bill is a money bill is beyond
judicial review.
@@ wGsrsr vew LEFTHTEUT TearLg FLLeans Curemeu Fameauflen (Wigay
BHsgienn wHYUeES SLUTHULL F).
(D) TheGovernor cansummon ajointsitting ofthe twohousesin case of disagreement
over the passage of Money Bill.
uewr wCsrgrenaubflenpCGoaupmeudler smSEH Coumur® gHulLTd &
Smausailen ol (d Fal LM U EHHT NPSSHTLD.
(E) Answer not Known
denL Qg flwellcrene
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63.

64.

Consider the following statements about the legislative procedure in the State
Legislature with respect to the Money Bills:
ombleo FlL eSSl L DG HEnL_(LPenm LD dlwl 191 66T Gl (T LD
M & 60 & & em 611 & & 6ul 6l u 181 & 6ir
1. A Money Bill can be introduced by a minister in the legislative council.
@@ ueaw wGsFrgremey FLL Coomauulled @f mwesFfHyNPslLBSSemLD.
2.It can be introduced only with the prior permission of the presiding officer of the
house.
SemauanwpL S Leuflenper aiwHuLen LLHCL Qs MWsLILBSS
D.
3. 'I(B‘c;ltul-legislative council should compulsorily return the Money Bill to the legislative
assembly within 14 days, either with or without amendments.
vewr wGsTHTemeu UL Cooeneu 14 BrisEhsGarH(HSSESEHL @D DG
Hmssriser QerMCurs L LCGuremaud@ HmUl et Ceuerhid
Which of the statements given above is/are incorrect?
Cule Gsrhs&suul(perer Msanasaiic erg Heaupreng?
(A) 1and?2only
1 wHmb 2 wLECW
(B) 2and3only
2 wpmwd 3 LLEGCW
(C) 1and3only
1T wHmib 3 wLECw
(D) All of the above
CuGa o drer enensgib
(E) Answer not Known
aenL Q5 fluieilcvenc

Consider the following statements regarding the legislative procedure of Ordinary
Bills in the State Legislature:
sngnyenr LGETHTSSefen FLLb6iTm Fenl(Wenm CFmLFLmer e HLd il &enssenars
& G 6l W M1 & it
1. An ordinary bill can originate in the State Legislative Assembly by a private member.
@@ Fnsryew wWCsrgr wrfle FULUCurmauild FaflFLrTd 2 (HeuTsSLILIL M.
2.The ultimate power of passing an ordinary bill resides with the assembly.
@@ srsmreaw LEsrTyTamaBlanCapnaushstar @md ey L Curameaus
2 GTeng).
3. Theregils no provision of holding a joint sitting in case of disagreement between the
two houses.
Qmsmaseb@aL_Cu smss Campur®) gHULLTO Fl (s FmlLFHms
BLSFeusnasren gourh Qaoeme.
Which of the statements given above is/are correct?
CulGe GarhssiuulLspnseaice erg sflurearg/sflurearg?
(A) 1and2only
1 wHomb 2 w ECw
(B) 2and3only
2 wpmd 3 LLEGW
(C) 1and3only
1 wHpmb 3 wLECW
(D) All of the above
CuGa o drer enensgib
(E) Answer not Known
cenL Qgflweilcrenc
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65. Which of the following statements is not correct with respect to the Legislative

process of the State Legislature?
slLlupmbQswudpapenwll Qurmss eaeapuied Keateu@mbd Fapmsaficowrhle
slLearpbgrjurserg sFflumearg jcoe?
(A) Ifabill that originates from the legislative council is rejected by the assembly, the
bill ends and dies.
sl L CGoeomeauied Q@mbs Qsm_mistiu@w @@ wCsrsr L LGuramaiwrdf
rrsfl&sliulLre, wCsrsr@nbg oNGSHngwHmd gL Sng
(B) Ifthebill that wasreturned for reconsideration by the Governor is again presented
to him without amendments, it becomes mandatory for the Governor to give his
assent to such a bill.
pEpprrawnuflfomarssrs Hmul eliutulL wGargn
Hmsshsar@oornod WearGb Seuflbd FLFUNGSILULLTG HSSmnaHW
wCergrallnE L EHHT STFH RLUILSM® GUPRHIEGEUS SLLTWLOMGLD
(C) If the governor withholds his assent to the bill but the President gives his assent
to it, the bill can become an Act.
8Qps wCsrgmeallhE EHHT a8 @UUSOOBHNSSHsCsTarLTID, GYWrsHs
ST S5NG RLLSD eflgsnd, wCGemsre@m FLLLOTSWLIM LD
(D) The legislative assembly can override the Power of legislative council by passing
the bill for the second time
slLUCGureneu @5 wCargr @reawineug pepwns HlepGeaupmeugerm epaLd
sLL Coomatlarfsrrdams WBm pigujbd
(E) Answer not Known
adenL Q5 flueilcrenc

66. Which of the following statements is correct?
Nereu@pd gapmsafic erg sflunearg?
(A) A State Legislative Assembly cannot prohibit anyone from publishing the
proceedings of the house.
wrfleo L Cureneuuilen BLougdmssener wnmd CeueafluliBeaanssd s
Qe pyuwrg)
(B) The courts can inquire into the proceedings of a committee of the House.
senLlen @@ Geler BLeugdmssmer BHlearphisereilanflésamd
(C) Press doesnotrequire prior permission of the House to publish true reports of all
the proceedings of the house.
croreupler 2 arend dsmssamerubd Ceuaflluil LSS flenss e & Esenuuden
wper ewd Czeneuuilcreane
(D) An outsider cannot be arrested within the boundaries of the house without the
permission of the Speaker.
sumpmw &iflewrs eyl HudlerdlaL L L1GLIyen auudl 66T 6 6m 60 & @ 6Tl eu il T & & em 6
mag GFww (Pigwng
(E) Answer not Known
denL Qs flweilcenc
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67.

68.

In the context of Indian polity, Consider the following statements:
Qidu Srflwed @G, Mereu@md & s semens s 6wk &er:
1. The Parliament has the exclusive power to levy taxes on subjects enumerated in the
concurrent list.
Qurg ulgweur kmsed g auflsmer alflés uTTTEpLaNSHDEG KWNrsGus
SHETID 2 6Teng)
2.The residuary power of taxation is vested in parliament and state legislature on
theirrespective fields.
aflelfliysasren erepdflw HHSTFD UTFTEHLEMLD WHMWD Wwrheo
FLLLEDSHDG ABSHS FIOPser B JufsEHEG 2 deng)
Which of the statements given above is/ are correct?
CulGa Qsrhs&suulperer sapmseflcr erg sflwmeng?
(A) 1Only
1 L EW
(B) 2Only
2 wL(HW
(C) Bothland2
1 wpmd 2 Qreir@id
(D) None of the above
CulGa ergabd Qe
(E) Answer not Known
alenL Q5 flweilcrenc

In which of the following situations Parliament can make legislation for states ?
ereu@pd aThd Ghlencuie urrmEpwernd LIHOBEEESSTAFLLSMS 2 (HeuTsHs
PiquLd?
1. When Rajya Sabha Passes a Resolution
wrfleksame @@ Siorardams HlanCaunpmbCung
2.During a National Emergency
Csflu ausyhlenauilenCumg
3.To Implement International Agreements
sfauGss @uubgmISmen L (penpliLbBss
4.During President’s Rule
gamdud oL SulerGurg
Select the correct answer using codes given below:
ECY QsrRsasLLL Herer GMuihEmer LB S sflwmrer LHameosCsTH6SH &S e Lb:
(A) 1,2and 4 only
1, 2 wpmb 4 wLEGCW
(B) 1,3and 4 only
1, 3 wpmbd 4 LLEGW
(C) 2and3only
2 wpmd 3 LLEGW
(D) 1,2,3and 4
1, 2, 3 wpmw 4
(E) Answer not Known
dlenL Qg flwellcenc
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69. Which of the following Amendments introduced an electoral college for the election

of the Vice-President of India?

Mereu@d SHmssnsailedr agm@pHu gGeoar geamdud GCsize soqfienw

SfpsuuGsIug

(A) The Eleventh Amendment Act, 1961
udoemrenrpreugfl(mssF L b, 1961

(B) The Twelfth Amendment Act, 1962
verafiamLreugH(hss&d FLb, 1962

(C) The Thirteenth Amendment Act, 1962
uglenepermreug S (msss L, 1962

(D) The Fourteenth Amendment Act, 1962
udlernensreugfl(msss sL b, 1962

(E) Answer not Known

cenL Qgflweilcrenc

70. Which of the following Amendments to the Constitution of India reduced the voting
age from 21 years to 18 years for the Lok Sabha and the State Legislative Assembly
elections?

Qidwu rflueemwlifer KHeatau@mbd Hmesaseicen g wWssTeneu WHMD WIHG
slLUCGurenaus@anssais@gn auwg2] auwg wsd 18 auwg GopssliulLg
(A) The Twenty-First Amendment Act,1967
21 mssé s L, 1967
(B) The Thirty-First Amendment Act, 1972
33 HmszssL1d, 1972
(C) The Forty-First Amendment Act, 1976
44 Hmss& L, 1976
(D) The Sixty-First Amendment Act, 1989
61 Hmssé s L1b, 1989
(E) Answer not Known

enL Qsflweilcrenc
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71. Which of the following statements is/are correct regarding the procedure for the
Amendment of the Constitution?
Mereu@d Msemaseiicer eagorflumenwliy Hmssbd Csrgurer Fflwrerg/
QEwdwenm
1.1t can be initiated only by the introduction of a Bill for the purpose in either House
of the Parliament.
urgr@EpernsSer Q@ mausaiabCrréssHnans @ m
wEErgrenau M sLILBSFHugen epod LLHCL @& CFT_mSLLGHD
2.The Bill can be introduced either by a minister or by a private member.
wGaETsTmel Ymw&ST Hoog SaluulL 2 mlnlerrred HMPsSLLGSS@TD
3.It requires the prior permission of the President.
25NE garmduduller per awd Csemeu.
Select the correct answer
sflurer LSS CsTH0SH &S a|D
(A) 1lonly
1 LR
(B) 1and2only
1T wHmb 2 wECW
(C) 3only
3 wLLEGCW
(D) 1,2and3
1, 2 womwb 3
(E) Answer not Known
alenL Q5 fluiedlcvenc

72. With reference to the Special Majority of the Parliament, consider the following
statements:

LI T T (@1 LD 68T M & &) 6t SplyuClu@mburerenoenulL LD il GO éir,

191 66T 61 (1 61 6¥T 6 ) 60 D) &5 &5 Gl Gl 1B & i

1.1t means a majority (more than 1/2) of the total membership of each House and a
majority of 2/3rd of the members of each House present and voting
8 galarm sgemuulear CQwrss 2 mllaryseafer Gu@pbUTeaTeny (1/2 &@ELwWb
Sflswren) carLmss GHSSDHCLYD @aibeurm Fenuufer 2 miieryserf e
2/3 umE Gumburarenwuleany sobhg Csrar®h caursseilsfearmery Al
QupbuTeTenLUl® Qwrss 2 mlileary eearm Qeusfllim®

2.The expression ‘total membership’ inthe Special Majority means the total number
of members comprising the House, irrespective of the fact whether there are
vacancies or absentees.
semuenw 2 ararsSw Qwrgss e mllaiseafler aaraflsans @hasfng |
STONILBISET DG uITHaufsHer erearlensd CUTmHLUBSSMDOD

3.The Fundamental Rights and the Directive Principles of State Policy can be amended
using the Special Majority.
SgliuenL 2 flenwser wHmD wrhle Csrearens cuPsT B Casriurhser Hpliy
Cuburerenwwred LLHGCL HMmSsL CFWw Wigud
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Which of the statements given above is/are correct?

CulGe Gsr@s&siulLspnseaice erg sflurearg/sflurearg?
(A) 1lonly
1 @b
(B) 2and 3 only
2 wpmd 3 LLEGW
(C) 3only
3 wLEGCW
(D) 1,2and3
1, 2 wpmwb 3
(E) Answer not Known
cenL Qgflweilcrenc

73. Which of the following statements is/are correct regarding the Special Majority of the
Parliament and the Consent of the States?
Spliyl Quepburearenwenwl und WGereu@md smpmseiler erg Fflwureng/sflureng?
1. The provisions related to the federal structure of the polity can be amended by a
Special Majority of the Parliament and also with the consentof half of the State
Legislatures by a Special Majority.
Srflweeamwliber FlLr 8 s5g b Qzrfurer & mssmser
ungrepwernddenr HApliy CUEELUTETEN ep@pD WHMID LTS wrheok sefl e
slLwearpsSlen Hpliy Cu@mbuTerend epod LLHGCL HHSsw CFww Wigud
2. Within 3 months the states should give their consent to the Bill.
3 wrgrIsERs@d wrhlomsda LEFTSTNGG @ULSHH allds Couamr@Lb.
3.The provisions related to the election of the President can be amended using the
Special Majority of the Parliament and the Consent of the States.
Glwrs sy Csise OCgmjurer elflser urymeEpwernsdenr SmLiL
Qu(pburerend eped WHMID wrhle FLeamhser Haiwd Seflss Couemm@HLd
Select the correct answer
sflurer LSS CsHTH0OSH &S D
(A) Anyone
gCsaIDd @eny)
(B) Anytwo
gCsamib Gremr®
(C) All are correct
Smeansgd sflwrearena
(D) All are incorrect
SN F|LD & 6UMTET6n 6
(E) Answer not Known
denL Qs flweilcenc
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74. Consider the following statements:

75.

ereaumDd & en & &en6rs a6 e ki 6
1. The 21st Constitutional Amendment Act of 1971 made it obligatory for the President
to give his assent to a Constitutional Amendment Bill.
1971 b gy amrgenr 21eug JrflueamwlyssBsss s Hrfwumenoli
Hmss wLCFTHTSG amSud @uyse Halss Cauar@L eerLms
sLLmubrsSwg
2.The Constitutional Amendment Bills can be introduced in the State Legislature.
wrfleo FlLweamsHed rflweeanwliy Hmss wGsrgrames HYNWPSLIUBSSMD
Which of the statements given aboveis/are correct?
CulGa Gsr@s&suulLspnseice g sflurearg/sflurearg?
(A) 1lonly
1 wLLEW
(B) 2only
2 L (H
(C) Both1land2
1 wHmb 2 Qreawr@bd
(D) Neither 1nor 2
el Qoeme
(E) Answer not Known
adenL Q5 flweilcrenc

Which of the following statements is/are correct about the Sarkaria Commission’s
recommendations regarding the appointment of the Governor?
@ppT Hwwerd Gsrjurarsissrflurseager uHdlw Neraumbd s ssaflc
ergl sflwreng)/sflwneng)
1. He should be a person from outside the state.
S Geuafl wrhlwganssCasibzarms Qmes Geueam@Hid.
2.He should not be intimately connected with the local politics of the state.
Sjauf wrhlegder o dreapi rflwgier CQBmEHL QFT_Fld QMHEsHEmLTg).
3.He should be eminent in some walk of life.
S aurpsansuiler S penLsafle LspOUDDeaurts Q@m&Es Geuamr@Lb.
Select the correct answer using the code given below:
EC Qarphssiiu_@erer @MuilenL i twetu® S Fllwner LHamesCsTH6SH &S e LWb:
(A) 1lonly
1 LW
(B) 1and2only
1 wHomb 2 w ECW
(C) 3only
3 wLLHGCwW
(D) 1,2and3
1, 2 womb 3
(E) Answer not Known
den Qg flwellcrene
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76. Which of the following falls/fall under the discretionary powers of the Governor?
Wemeumeuaneupied ergl o @ppfleanallmuudamrsdenr S cumEng?
1.The appointment of the Chief Minister, when neither a single party, nor a
combination of the parties emerges from the election with a clear majority.
ThS @@ SLEASGL Joog sFmLLaflurs Csins s fsgb Csafleumer
Quepbureren Qoors Crride wsoeamwéseany Huwwerd G&uieug
2.With regard to making a report to the President under Article 352.
Nfley352etr S0 GURWIHS FMOUMEGSG NdFans GFlleug QFTLFUTS.
3.The reservation of the Bills for the consideration of the President.
Grwrssd smaaflauflfomars@uLCsngrssaien @f&&E0.
Select the correct answer using the code given below:
EC Qarpssiiu_@erer @MuilenL L tweatu® S Flluner LHamesCsIH6s 0SS e Wb:
(A) 1and2only
1T wHmb 2 w ECw
(B) 1and3only
1 wHpmbd 3 LLECW
(C) 3only
3 wLLEGCW
(D) 1,2and3
1, 2 wopmw 3
(E) Answer not Known
enL Qg flwelcene

77. Consider the following statements regarding the reservation of the Bills for the
consideration of the President:
wCergnésafiler @&5&EM OCsrojurer Gemeu@mbd LemHuHuienr Lflfoemen
SNsenssmend & e6uaflu|miser
1. All types of Bills passed by the State Legislature may be reserved by the Governor for
the consideration of the President.
wrfle FlLweamssroflapnCapplillL HMmeaTdHF 6U6ndWTer
wGETET&EsEpLEWIsEsS smacflaruflfoameans@ i, @b5ieliLD
2.The President may either give his assent or may direct the Governor to send the Bill
back for reconsideration by the State Legislature.
GRWrssd smaal] Sag RULSMD QUPEISOID OO Y EEHIHEES Wb
slLamsdenr wonuilfomars@ wWCFTHTme WaTHL @il ST L TLD
Which of the statements given above is/are correct?
CulGe GarhssiuulLspnseaice erg sflurearg/sflurearg?
(A) 1only
1 LW
(B) 2only
2 L HW
(C) Bothland2
1 womwb 2
(D) Neither 1nor 2
el Qoeme
(E) Answer not Known
dlenL Qg flwellcenc
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78. Which of the following statements is/are incorrect?
emeu@pd M&emaseilcr eTg FHeummengi/seummeng)?
1. Article 53 vests all executive powers of the Union in the President.
Nfley53 geardwsdHen eneanss HeapCoaupm Hsrrhisameru]bgermduSuilbeu
PEGEDSI.
2.Article 79 states that the President is an integral part of the Union Parliament.
Wley79@ ywrss smeeli @erduw UmgTEpLernSSearemudlaarhs LGS ererm
o018
Select the correct answer using the code given below:
EC Qarpssiiu@erer @Ml tweatu@SH Flluner LHmesCsTH6SH &S a Wb:
(A) 1lonly
1 L @b
(B) 2only
2 wL({pHw
(C) Bothland2
1 wHmw 2
(D) Neither 1nor 2
b Qeene
(E) Answer not Known
clenL Qg flweilerenco

79. Consider the following statements:
eraumDd & en &S en6rd & 66wk 6
1. The leader of the party in majority in the Lok Sabha, or a person who is in a position
to own the confidence of the majority in the House is appointed as the Prime
Minister.
wésamemeuuile GQUELUTeTeD GsTarL. @@ SLAwlenr Smaal] D)
wésareneuuien CuUmbLUTeneny 2 minfearfseflen pW9GEmaamw QuHn BHUF
Yrswrrs Hwblssiu@eury
2.The Prime Minister of India is both the head of the state, as well as the head of the
government.
QrHw Brigen wWHHD rsThsSHear smoalf QbHw KNTswLFT <y eury
Which of the statements given above is/are correct?
Cule Qar@ssiulLspnseiled erg sflurearg/sflumerg?
(A) 1lonly
1 L Eb
(B) 2only
2 b G
(C) Bothland2
1 wHmwb 2
(D) Neither 1nor 2
T Qoene
(E) Answer not Known
dlenL Qg flwellcvenc
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80. Consider the following statements:

ereumDd & enssenard & 6 el uy ri & 6
1. Only the members of the Lok Sabha can participate in the proceedings of the Lok
Sabha.
wEsareanalufenr 2 plibleanriser WL HICW wEsaenel HLalgsmssaile LBICHDHS
Pl
2.Election disputes are heard and disposed of by the Election Commission.
Caige Qsmguren rssmeanser Caise Yy eamamrwussre ellemfléEsiiul b
S5 & L1 H & 6t eor.
Which of the statements given above is/are correct?
CulGa Gsr@s&suulLspnseice g sflurearg/sflurearng?
(A) 1lonly
1 LG
(B) 2only
2 vl
(C) Bothland2
1 wHmw 2
(D) Neither 1nor 2
T Qoene
(E) Answer not Known

lenL Qg flwellcenc

81. The provision of Article 368 of the Constitution of India deals with:
Qidwu rflueemwliyéslLsHar368augfle] cansliLnm FomElms

(A) Power of Parliament to amend the Constitution
Srflweemwlieny SHsHs uryrEpLearnsHen HFsmyd

(B) Procedure for amendment of the constitution to be followed by Parliament
ungrEpwernd e WearuppliuGn SrfwueawliyS;mssssnsrear Bl (penn

(C) Power as well as procedure for amendment of the Constitution
Sflasryd wHNL JrflueawlibNaSmsssSnsrear HaL (penn

(D) Passing and ratifcation of amendment Bills by State Legislatures
wrfleo FlLwearpriseaned SHmss wCsrgsrssamer HeapCoaupmsed WwHDHILD

@ULBD Iefl5sa
(E) Answer not Known

lenL Qg flwellcenc
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82. Under a cabinet form of Government, the cabinet generally remains in offce:

ITFMEESSHen YenwdFreana algeudder S, Jenwdsrmel QuUrgeurs LFelulled
Qm&GL:
(A) For afxed term
Bieorwnd QeuwiulL stosHHG
(B) Solong as it enjoys the confdence of the of legislature
g sLLweamsSlenr pLOENGMEMW @ LeNSGLD cueniy
(C) Solong as it enjoys the confdence of the head of state
g SrFsamaalfler HLENGmEMWL H@LANSSGLD cueny
(D) So long as it enjoys the confdence of the electorate
g aunsasnerjseilen pHASmaEmL @UNEGWD aueny
(E) Answer not Known
dlenL Qg flwellcrenc

83. Which Schedule of the Constitution of India contains the three lists that divide
powers between the Union and the sates ?
Qpdu yriueamwlibear ahs Leauamaruiouailuer wHMWD WIHLSEESE
Qe Cu gflarrrisameriNflE@L eperm LW &er 2 6rerer?
(A) Fifth Schedule
DHSTEUG| | L6 6m eur
(B) Sixth Schedule
ODLOTEUG| DL 66D 6ur
(C) Seventh Schedule
TRTEUG |L_L 66 6ur
(D) Eighth Schedule
GCTLLMGUG| <L 6Ueneur
(E) Answer not Known
dllenL Qg flwellcenc

84. Money can be advanced out of the Contingency Fund of India to meet unforeseen
expenditure by the
erAyungrg Ceaclamasamers shHss @nHwureler FHGswd HHNS MBS LaTSng
(perUemrorSLIGILIMeTLD.
(A) Parliament
LI T [ T (@TF LD 657 ) LD
(B) President
serrHu S
(C) Finance Minister
RS emwasy
(D) Prime Minister
Yy sl
(E) Answer not Known
dlenL Qg flwellcrenc
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85. Which of the following provides for the establishment of the Cabinet Committees ?

G étreu(heuameuH Ml ennEFTaneld G (DS SmanbimeusNE g UPEIGSDnS?
(A) Constitution of India
QrHu rflwueenoli
(B) Parliamentary Statutes
LITTT@RLOGHTN &L L& 6T
(C) Rules of Business
Qi elldser
(D) Presidential Orders
GlWrs Feneeuflen i emenrser
(E) Answer not Known

cenL Qg flweilcrenc

86. Which of the following tools of control may be adopted for raising a discussion in the
House on a matter of urgent public importance?
Seusroner  Qurg  WwsHwsFeud  arlps  AegwsdHenr Bg  Femuufed
daurggenger(lileusHE Weraumb &L huur_fs@melsafle erg MerummliLiLcomb?
(A) Censure motion
seafldens Sromenld
(B) Adjournment motion
@ddenailiy SFoTerLd
(C) Calling attention
seuen UL SFomerd
(D) Cut motion
Qe SFTomewmiser
(E) Answer not Known

cenL Qg flweilcrenc

87. Which one of the following is the correct sequence of the given stages in relation to
the enactment of the budget?
aredsoed SHlLsmzsslLorsgeag Qzrjurs OCarhssluulLflenesafler
sflurer euflens Nereumeuaraudmed org)?
(A) Voting of demands for grants-General discussion-Consideration and passing of
the Appropriation Bill-Consideration and passing of the Finance Bill
wraflwurisepssraCanfléamssailen aursCas®LUL-Curg alleursgb-uflfoenen
wHND RFHSE_ELCEsTETnas HapCaupmsa-uflfomer wHm HH wWEFTFTm6
Hevp Coupmiz e
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(B) General discussion-Voting of demands for grants-Consideration and passing of
the Appropriation Bill-Consideration and passing of the Finance Bill
Qurg efleurgb - wralwukisErssTaCasrflsamassaflen aursbamiy -
@5158_HwCargremey LUAENSgH HAeapCaupmssd - HH wCsrgrmen LNEN S
HeopCeup mis e
(C) Voting of demands for grants-Consideration and passing of the Appropriation
BillConsideration and passing of the Finance Bill-General discussion
wreflwuksEpssraCGasrilsamasamer aunésafldso-Lflfmaar WLHMLD
@55E_OwCsrgrencas HeavpCaupmsed wHmL HF wLCsreT-CQurgk elaurgsms
Henp Coup mis e
(D) General discussion-Consideration and passing of the Finance Bill-Consideration
and passing of the Appropriation Bill-Voting of demands for grants
Qurg eNeurgw-Hd wCargreler Lflfoamer wWHDID HennCGeounmbd-LiflEeener
wHND RFHSELELCEsTTma HeanpCoummn s e-wreaflwkisEsssrarCans s emasenar
aund & el & 5 6o
(E) Answer not Known
enL Qsflweilcrenc

88. The Rajya Sabha has exclusive jurisdiction in:

wrfeoksamaus® WMrsCus yfasry aupwby e o drerg)

(A) Approving a proclamation of emergency
Saugrasre KrsLarddnE U0 6fd s

(B) The creation and abolition of States
wrioBigmer 2 (hauls@se WHMWD @IS

(C) The election of the Vice-President
Gwragmeansd smaalj CHisHe

(D) Authorising Parliament to legislate on a subject in the State List
wrileol uliguweld o.drer @@ ellaguwsHed FUL1b QuUOnesHS

urprEpwearnsSHnE HHsTTL eflssd

(E) Answer not Known

llenL Qg flwellcenc

89. Themethod of election of the members of the Rajya Sabha on the basis of proportional
representation by the State Legislatures was borrowed from the
wrfle sl werprisaflen el grany NrHbH s s eusder g liLienLule bk seren el
o muGlerfasenerd CoIH0S5HEGWL (Weop S mbg GUDLILLL g
(A) Constitution of U.S.A.
Owfl&Es rfluenoliy
(B) Constitution of Australia
v Craflwmellen rflweentoliyy
(C) Constitution of South Africa
Qg ererriflssrellen rflweenioLiL]
(D) Constitution of Ireland
Swierhdler rflueenoliL]
(E) Answer not Known
dlenL Qg flwellcrenc
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90. Under Article 312 of the Constitution of India, the Rajya Sabha has exclusive power to
recommend the Constitution of which one of the following?
@pdu  yrfueamwifardi2auglfleler &P, Varau@peaamaupied THS @
Srflwueemwlienu Uflhgarss wrhorsamaus@lrsCus farrd o drerg?
(A) River-valley Development Authorities
B&l-uetergsméE Cwurl (HlienLLiL|ser
(B) Zonal Councils
LOGITL_ G0 < EMLOLIL|S 6T
(C) Administrative Tribunals
freurs Srliumwis&er
(D) New All-India Services
HIw fle @bHwu uenflger
(E) Answer not Known
denL Qs flwellcrenc

91. Who among the following decides whether a Bill is a Money Bill?
Nereu@euameupdled wny e wGsrsm, uaw WEFISTAT UM (Plga] QEWISDTF?
(A) The Finance Minister
RS ey
(B) The Chairman of the Rajya Sabha
Lo mH 60 161 & 61T 60 6U & 61 G GU I}
(C) The President of India
QiU Grurs: FHemeeur
(D) The Speaker of the Lok Sabha
w&semeneuuilenr FLIMBIWST
(E) Answer not Known
cenL Qg flweilcrenc

92. When an Ordinary Bill is referred to a joint sitting of both the Houses of Parliament,
it has to be passed by a:
@ &1 Ty Gor Cargm 6 ITL_IT (&1 LD 68T ) & &) 601 8w <3| em 6u & aifl 6ir
Gl (& LsSD@luflbgeanrssiu@wursg, SjglereuaumrmiblenmCoupmLiLiL
Geuettr(HLb:
(A) Simple majority of the total number of members of both the Houses present and
voting
Qm Smeasafenr CQwrss o mulearyseiler erameanflsansuiics eraflw
Cuepburerend WLHMHID eursseflliLig)
(B) Two-thirds majority of the total number of members of both the Houses
Q@m emausafen Gorgs 2 mlilariseflen erawenfléengullcependcr @ remr@
LBIE GQu@phuUTeTenLd
(C) Simple majority of the total number of members of both the Houses
Qm emausaflen Corgs o mlbeary aarafldansuice eraflu CuUmDLTETENLD
(D) Two-thirds majority of the total number of members of both the Houses present
and voting
Qm emausaflen Gorgs o mlilariseflen erawenfléangullcependcn @ remrE
umkl@ Gu@burearend LHMID eursseflliLig)
(E) Answer not Known
enL Qs flweilcrenc
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93. The economy cut-motion seeks to reduce the proposed expenditure of a demand for

grant by:
Qurerrgny Qaul@® Siwnerd wralwsHpasrer Casrflsmaulien WerGmBwLILILL
Qeaclahisenerd erelcuene Gemnss (PWOSHDF:
(A) Rupees one hundred
BID eHUmd
(B) Rupee one
EHLIML 66T m)
(C) A specifed amount
@@ SHUYALL Qzrens
(D) An unspecifed amount
GOIUNLLuLTs Qsrens
(E) Answer not Known
dlenL Qg flwellcdene

94. Whichoneofthefollowing committeesisnotaStanding Committee of the Parliament?
ereumd @ésaflc ergl umprEpLearndden HamwsdE W joe?
(A) Public Accounts Committee
QU &E5aTESS & (LD
(B) Estimates Committee
LHAUSOSET &
(C) Committee on Public Undertakings
Qurg HmeuaThgsEp&EsTean & (D
(D) Consultative Committee of the Ministry of Finance
Hé enwésss g, Consanarsd @ W
(E) Answer not Known
dlenL Qg flwellcena

95. Which one of the following Parliamentary Committees consists exclusively of
members of the Lok Sabha?
191 661 Gl (1 LD I5TL_IT(@H LD 60T & & (L & & aifl 6b erg) WrsSHCusons LD & & 6T 6 G
2 ML e & em e & Ol & mevr (h eirer g ?
(A) The Public Accounts Committee
QU SEsaTESS & (LD
(B) The Estimates Committee
LHUSLHS SW
(C) The Committee on Public Undertakings
CQurg HmeuaThsEh&sTam & (W
(D) The Committee on the Welfare of Scheduled Castes and Scheduled Tribes
uligwe srHullery wHmb UPBIGLUElaTT Hod GMSS & (W
(E) Answer not Known
cenL Qg flweilcrenc
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96. Consider the following statements about BasicStructure Doctrine:
gt sl Lenwliy Carliur@ updlw erau@mbd b &enssemaers s e e ks 6r
1. Parliaments in Constituent Power can amend anyand all features of Constitution.
urprEpernd Hrfwed HenwliGer amardg HWflesamerun $mssLd
Qawiweomd
2.Basic Structure is mentioned in the original constitution.
30 Yrfueenwlifed gl sLLabllGhsds el iul’ Hererg.
3.Comprehensive list of basic structure has been enunciated by Supreme Court.
SlglinemL sl Lenwlibenr alfleuren ULligwed 2 &&
BHwermssroeleuflsasliLil Herearg.
How many of the above statements given above is/are correct?
CuCGa Qarpasliulperer Copsdlu smpmseiled assemen sflwmeareneu/sflwimeareneu?
(A) Onlyone
gCaad e
(B) Only two
FCaaid Qren(
(C) All three
gCaaud epenm
(D) None of the above
T Qenc
(E) Answer not Known
dlenL Qg flwellcvene

97. Consider the following statements regarding 106th Constitutional Amendment Act,
2023:
1066ug) rflwueenwliys Smssé sLLb, 2023 Qgrjurer MereuhLd HPéenssamensd
& G ¥l WY M1 & GiT:
1.Ithas provided reservation of seats for women in Lok Sabha or House of the People.
DESATMEU HODG W&EHET wearpddled CUansErsE QL @FHISEH cupnidudrerg
2.1t has provided reservation of seats for women in the Legislative Assembly of every
State.
@alQeurm wrilesHearel L iGurmauigib QuaTsErsEd QL @HSE0
cupmISlu|6Terg).
3.The Act will expire after a period of 15 years from the date of commencement.
slLLb QerimsuulLpralad®mhg 15y, ar@sErsal WnEg sreraudurdel@iw.
How many of the above statements is/are correct?
CwCGa o drer sapmsaficr erdsenen/sflwimeareneu?
(A) Any one
gCaad e
(B) Any two
7G5 aib @y e
(C) All three
gGaILbepeimmLd
(D) None
T Qoene
(E) Answer not Known
cenL Qgflweilcrenc
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98. With reference to the Privileges of the parliament, consider the following:
urgrepwerndder Aplilflenwser @M, L9 66 euaremenn s & eu e b & er:

1. Exclude strangers from proceedings.
BLallgSamssalled QMBS iBHWTSeamerellendsa)Ld.
2.Hold a secret sitting of the legislature.
slLweamsSlenr sl sl Lsmg HLSS
3.Freedom of press to publish true reports of Parliamentary proceedings.
UrpmEpLern BHLellgdamssafer o arend HMsamssamer Geuaflui LSSHflens
FSHSTd.
4.Not liable in court for any speech in parliament
ungrEsanddad ahsl Cuiss@b BSHwansHad CurmLiLide
5.Exempted from jury service when the house is in session
ol Lb penLQumid Gurg SHwearmsHed <y mrraufledr Qmbgs AwsE
How many of the aboveis/are a part of the privileges available to the parliamentarians?
Copsmdlueapdles  eadsemen  umgrEpwern 2pUNaTEEEsGs Sl &G
Apuyflenwaseiled @m uGH?
(A) Only two
gGaad Q@ram@wLlHCw
(B) Only three
gGaad eperm WL HGW
(C) Only four
gGaayd preng WL HIGW
(D) All
Smean g sflwrearg
(E) Answer not Known
aenL Q5 flweilcrenc

99. Under which Schedule of the constitution of India a Tribal Advisory Council is
constituted?
QrHu grflueewliter aps S Leuamearuier S UpBIGUla < Corsmerns
G Smw&EsLLL (HeTerg)?
(A) Fifth Schedule
BHSTEUG| B|L_L_GUEH 6T
(B) Sixth Schedule
ODLOTAUG| DL L GEH 6HT
(C) Eleventh Schedule
LTI DTEUS L L 66w 6T
(D) Twelfth Schedule
LenalyerL_eugl <L L 6eneur
(E) Answer not Known
dlenL Qg flwellcrenc
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100. When a Bill passed by the State Legislature attempts to take away the powers of the

High Court and is presented before the Governor for his assent, he:
wrfle FlLwamssrtofleanCauppliulL. @@ wCsTaT, 2wj BHwernsdHen
Sfsrrrsmers LMES WYwerm, <, EHHATRULSNESTSWperemeusdslupGbCurg,
|6l
(A) May give his assent
SENG| 6LIL|S 6N 6 EULDMEI& LD
(B) May withhold his assent
Surg guUsmBlnSsmmd
(C) Isbound to return the Bill for reconsideration .
woufl Fomearsans wCsrgTamaud HHUD ain Ceauam@L
(D) Isbound to reserve the Bill for the consideration of the President
garduduier uflfvmars@ wEsTFTMa @FGSH mausssas HLULLeuF
(E) Answer not Known
denL Qs flwellcrenc

101. Consider the following statements:
eraumD & en &S en6rd & 66wy rid 6
1. There is no provision in the constitution for appointment of distinguished jurists as
ajudge of the high court.
2wf BHweamsde FlLadgaisamaBiudsans Huwbléss orfwed
Sjenw Uil @D iuLafléene
2.The Constitution does not prescribe a minimum age to be appointed as judge of the
High Court.
2 wi BHwearpd BHudurs AuBsEsLLusHETarE dDHSLLSF UL
Srflweenwliy GHlUN_aldeme
3.The judges of the high court are appointed as well as administered oath by the
governor of state.
wrhle < Epnrmed 2wi FHwearn SHusd Hublssiiu@autsrE,
ugelllbiyorerpw CQEwwliL@ S oy ser
Which of the statements given above is/are correct?
Culao QarhssiulL gpmseaie erg sflurearg/sflunerg?
(A) Anyone
gCsaId @eny)
(B) Anytwo
gCsaid Qranrh
(C) All are correct
Smean g FFlwrerena
(D) All are Incorrect
SMETSGILD & 6UMITETEn 6
(E) Answer not Known
den Qg flwellcrene
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102. Consider the following statements-
ereuBLd <& 6en & & 6n 6 S & 6ul 6l L i1 & 6iT-
1. The Supreme Court can punish any person for its contempt.
2 &5 BSlwearpld sag auLSLLESTE aTHSOeUTH BUMTWLD FamiqHsd (WlgULbd
2.The parliament is not authorised to expand the jurisdiction of the Supreme Court.
2 55 BHlweapsdenr sy aupbeu alfleuBSs BTILTEHLENSSHEES HSHSTTD
@oeno.
3.The constitution authorises the president to seek the opinion of the Supreme Court
in any matter.
ahs NeaswsHaine & FHoansdear sHsmass Cals mamdludss
Srflweemwliy dsrrn eflsESnsg
Which of the above statements is / are incorrect?
CwGe o drer sapmsaficd ergy / Heupreng?
(A) 1and2only
1T wHpmbd 2 LLEGW
(B) 2and3only
2 wpmd 3 LLEGW
(C) 1only
1 LR
(D) All of the above
CuCGa o drer emeansgiwb
(E) Answer not Known
llenL Qg flwellcvene

103. Consider the following statements regarding the writ jurisdiction of the supreme
court-
2 58 fBHweapsder BHUCUTmamlary ey  QFTLfumer  Neweu(HLd
M1 & 60 & & 6 611 & & Gl Gl U 11 & 6iT-
1. The jurisdiction of the Supreme Court is exclusive regarding writs.
BHLUCUrTenamQsrLfuns o &8 BHwansHer daryn KNrsHCusLTaG)
2.An aggrieved person has to compulsorily approach the High Court first for the
enforcement of their fundamental rights.
SiglitenL 2 flenwsener wOUHSHSOESTLFuUrs urdHssiulL U
slLmuwrs Wwadle 2wiBdvaniomnsd ams Cousmhd
3.The writ jurisdiction of the high court is wider than that of the Supreme Court.
2 wi BHwearnsdarBSlCuyrenenr fany by 2§ BHoansmns ol
elfleureng)
Which of the statements given above is/are correct?
CulGe GarhssiuulLspnseaice erg sflurearg/sflurearg?
(A) 1and3only
1 wHomb 3 wLECW
(B) 2and 3 only
2 wpmd 3 LLEGW
(C) 2only
2 wHGw
(D) 3only
3 wLLHGCwW
(E) Answer not Known
cenL Qg flweilcrenc

GS01-010624 51 www.mntfreeias.com



.‘NPSC - Group - I - Online Test Series
104. In context of High Court, consider the following statements-
2wy BHwearmsden @Gealed, NemauHLd & en s S en 6 s S 6 6ol L B & 6iT-
1. The judges of the High Court are appointed by the governor of the respective state.
swi BHwery BHudsar bsHs wrHe <y EHBITOBRWLSESSL LGS 6D en].
2.The constitution has prescribed a minimum age for appointment as judge of the
High Court.
2 wi BSHwearpfHudurs Huwerd CQFlmsHE HrHlwueawliy GonhsULF
auweng Hiyewruils g)eren g
3.Ajudge of a High Court can be removed from his office by the president only.
2wy BHwery FHudenw eurg ugsaluie Qb RarmdHud wLLHCL F&s
Pl
Which of the following statements given above is / are correct?
CulGa Qar@ssuul(perer Nemeu@mbd sFmpmaseiler erg sflureng / sflunerg?
(A) 1land2only
1 wHomibd 2 wECwW
(B) 2and3only
2 wpmd 3 LLEGW
(C) 3only
3 wLECW
(D) 2only
2 w1
(E) Answer not Known
enL Qg flwelilcena

105. Which of the following constitutes the original jurisdiction of High Court-
Spsaar_aupdle erg 2 wi BHwearnsdlen Fd HHSTT eurLdenLi&6smerH eTeng)-
1. Enforcement of fundamental rights of citizens.
Gwésaflen liLemL 2 flenwsamer HLOLBHSSHISD.
2.Disputes relating to election of members of parliament.
BrLmepwearme nllarsamarsCasibshliug CQsr_jurer sjsmaser.
3.Matters of contempt of court
BHwernm euwdliy eNeustrriser
Select the correct answer
sflurenr LHemesCsHTH0S 0SS b
(A) 1and2only
1 wHomibd 2 wECwW
(B) 1and3only
1 wHmb 3 wLECW
(C) 1lonly
1 LWL
(D) All of the above
CulGo o drer enens b
(E) Answer not Known
en Qg flwellcrene
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106. Consider the following statements regarding qualification for the Appointment of
District Judge
wraull BHud Auwarsdpstar $&H CsTfurer Kemeu@@mbd N En&SEmars
& G 6l Wy M1 & 6T
1. should not already be in the service,of Central or State government
gnsarGeas wWHHW g wrHe HyremhssdaGsmauuillces QMHEsEsmLTS)
2.should have been an advocate or a pleader for 10 years
10 aupLmisen aupsahEprms owg auPssHerms@mbHmss Couem@dLb
3.should be recommended by the Supreme Court for appointment
HuwearsHnE o2& BHwanssrouflbgeamrsasliuL. CeusmrhHd
Which of the statements given above is/are correct?
CulGa Qasmr@ssuulLsgpmseaicd erg sflurearg/sflureng?
(A) Anyone
gCsEbd @ery
(B) Anytwo
FCaaib @ren(
(C) All are correct
Smeansgid sflwrearenal
(D) All are incorrect
S|MEMSFLD & 6UM T 66N 6
(E) Answer not Known
cenL Qgflueilcrenc

107. Consider the following statements:
ereaumLDd & en &S en a6 d & 66w rkig 6
1. The number of judges of Supreme court and High court is decided by Parliament of
India
2 &5 Bdwerpd wHmL 2wi BHwearn FHudseien cramanfisans QbHwn
BTLT@GLeamsTe Siwreflssiub s
2.There is no minimum age prescribed to be appointed as a Judge of the Supreme
Court.
2 & BHwery FHuurs Hwflés Gaopbsuls euwg eTgeb
Hrenrui&sLiLL_eloenc
Which of the statements given above is/are correct?
Cula Qsr@ssuulLgpmseaicd ergy sflurearg/sflureng?
(A) 1lonly
1 L@
(B) 2only
2 bl @
(C) Bothland2
1 womwb 2
(D) Neither 1nor 2
rglajb Qoeme
(E) Answer not Known
dlenL Qg flwellcvenc
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108. With the reference to Ad hoc Judge, consider the following statements:
snsrals BSHudeaws updu oy, K6 flden s enerd s euef ks e6r:
1. The Chief Justice of India can appoint a judge of a High Court as an ad hoc judge of
the Supreme Court for a temporary period.
BpAu s@emn BHLS on cwl fSvap SHLdmuspsrds sTasSHE
2 FefHwearpsSearbHuSuns Huléssemd
2.Ad hoc Judge enjoys all the jurisdiction, powers and privileges of a judge of the
supreme court.
snanalle BHuS emassbdoapBiudulcr emarsg sHasnr eurbl,
IS ETIRISE OO FQmEsmer ey LieNsSAnmy
Which of the statements given above is/are correct?
Cule QarhssiulLspnseailed g sflureng/sflurearg?
(A) 1lonly
1 LW
(B) 2only
2 b G
(C) Bothland2
1 wHmb 2
(D) Neither 1nor 2
TFad Qoene
(E) Answer not Known
en Qg flwellcoena

109. With the reference to power of supreme court, consider the following statements:
2 &5 BHoapsHer yfsmrsens updwu GHULL6r, Denau@mld hdansHmend
& GU 6Tl W 61 & 6T
1.It has the power to review its own judgment or order.
s Qs Sl Hoag 2 Fsrameu woUffomer CQFliujb HSHSTTD
35NG 2-aur(.
2.Its law is not binding on all courts in India
s FLLL @pHureld o drer mardg BHloarprsmenud sLOLUUOSSTS
3.1t can transfer a case or appeal pending before one high court to another highcourt.
Q3 em 2wj FHwapsde Hameauice 266 aRdEG DS
CuaweapuitaL wHCprm 2wi BHwansHneE wrhperd FHwermd
4.1t can give the final version to the spirit and content of the provisions of the
Constitution.
Qg rfluamwliy alflsaler g6l wHMWL 2o &558HEe @nHiuSlmus
Q&R &S
Which of the statements given above is/are correct?
Cule Qar@hssiulLspnseiled erg sflurearg/sflumeng?
(A) Anytwo
gCsaub @remp
(B) Any three
gCsad e
(C) Allare correct
SmandgId sflwrerena
(D) All are incorrect
S|METSGID & 6UMDITEEn 6
(E) Answer not Known
dlenL Qzflwelcenc
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110. Consider the following statements:
ereu(BHLd <& 6en & & 6n 6 & & 6ul Gl L i1 & 6T
1.The Seventh Amendment Act of 1956 authorized the Parliament to establish a
common high court for two or more states.
1956 b Y argeargEraugHHsss sLLLQranh og 5HEG CopulL
wrflokiseEpdsarear Qurgeurer 2wi BHernbamwss
LUTpTEELaDSSDGIAREETTD 6l sg
2.At present, there are 30 high courts in the country and Delhi is the only union
territory that has a high court of its own.
sHCungl, priged 30 2wy BHwearpriser 2 eteren WHMD QL WLHGCW
Qerpgors 2wi BHoansanss Qarar, welwueaniyCsab.
Which of the statements given above is/are correct?
CulGa Qasmr@ssuulLgpmseaic erg sflurarg/sflurerg?
(A) 1lonly
1 L@
(B) 2only
2 wL{pHw
(C) Bothland2
1 wHmw 2
(D) Neither 1nor 2
g Qoene
(E) Answer not Known
allenL Qs flweilcrenc

111. Which of the following statement/s is/are correct?
Mereu@pd gapmseficr erg sfluneng?
1. The Council of Ministers can advise the President to dissolve Lok Sabha and call for
fresh elections at any time.
wEsaeamaamusmas el h HHw Cosisase ahs CrrsHaib enplil
dpsawrnuoamiudlsEs mwesisda GW <, Consmer amerb.
2.The advice rendered by Council of Minister to President can be inquired in court of
law
Smwésy seajanfle gamdludls@auprdug Corsamearanw HHlwerns S
N&rfl&sembd
3.The total number of ministers, excluding the Prime Minister, in the Council of
Ministers shall not exceed 15% of the total strength of the Lok Sabha
Smw&siser Gpelolirsweanrsd 56755, QLIEsH mw&sTsaf e
cranaflEens, wasareneulllen Cwrss LGHa15%sGUaTLO QMmés Couamr@Lb.
Select the correct answer
sflunen LHemasCsIH0SH &S e
(A) 1and2only
1 wHmb 2 wECw
(B) 1lonly
1 wlEH
(C) 3only
3 wLHGCwW
(D) 1,2and3
1,2 wpmwb 3
(E) Answer not Known
denL Qg flwellcene
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112. With reference to the state council of ministers which of the following statements is/

are incorrect?
wrfleo amwesfseda Guwemeull uHdl Weraumbd yMsmssafler ergi/erencu Feupmeang
1. The Chief Minister may be a member of any of the two houses of the state legislature.
wrfleo FlLweamsder Qm Smeusailer gCaab gerhed wWadeay o mllearyrs
Qm&SemD.
2.A person who is not a member of the state legislature can be appointed as Chief
Minister for three months only.
wrfleo FlLweamsHed 2 mlbearnrs Qoors @IHeUMT (PG LOTSE S EHS S
LLHCL soamwesrrs HWNES wpigu|bd.
3.The Chief Minister’s resignation or death, automatically dissolves the council of
ministers.
wpaenw&sflen prlermon g Wwrard, STamsGo HenFsFyenalenl
&6 S gl 6l (HILd
4.Chief Minister is the Vice-chairman of the state planning board.
wrfleo L sgueler Femems Smaalj (PHOEF.
Select the answer
Lflmas CsiHasE S s LD
(A) Anytwo
gCaad Qe
(B) Any three
gCaaId eperm)
(C) All are correct
Smeansgid sFlwrerena
(D) All are incorrect
SIMETSGILD & 6UMDITEena
(E) Answer not Known
cenL Qgflweilcrenc

113. Consider the following statements regarding Cabinet

Semw&srenel GQsrfuren erauHd s enssemens s eu e & er

1.Itis a smaller body and includes the cabinet ministers only
Qs @m Afwu enwly wHnw Cslargmwesfsaner LLHGCL 2 drarL&Hlwg

2.The word cabinet was inserted in Article352 of the Constitution in 1978 by the 42nd
Constitutional Amendment Act
SemEFreanal eTern eunfensd 42eugrfluamwliyf;msss sl 1978Qdd oy
Sweenwli9ear3526ug N flellcoCarsasLiLL L g).

3.Itis an advisory body to the President and its advice is binding on him/her.
Qg gamdudsstangy, Corsmard G WHNWL Fer <y Corgamen
D U[EGSHSL_LTWLDTGLD
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Which of the statements given above is/are correct?

CulGa Gsrh&s&suulLspnseice g sflurearg/sflurearg?
(A) 1and2
1 womwb 2
(B) 2and3
2 wHpmw 3
(C) 1and3
1 womd 3
(D) 3only
3 wLEGCW
(E) Answer not Known

cenL Qg flweilcrenc

114. Who of the following is/are part of the union executive?
Mereu@heuameupdled wny wHHw Hiunssderem LGS ?
1. President

G4 WT&HSMme6U
2.Vice president
GRWIs Fenarwsd FHMHOG6U]T
3.All members of Council of Ministers
S &sTHeT Gpallen Jmeansg 2 mLienys @
4.Advocate and Solicitor General
Smaend cUR&SMEHT WLHMID FGenewr eulp&sMliesF
Select the correct option/s from the code given below:
ECp Qarhssiul_perer GO llBHa sflwurer N@muub/seamer CHFH6SH\SSaLWD:
(A) Anyone
gCsaId @eny)
(B) Anytwo
FCaaid Qren(
(C) Any three
FCs@bd gpenyl
(D) All are correct
Smeansgid sflwrearena
(E) Answer not Known

cenL Qg flweilcrenc
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115. Consider the following statements regarding prime minister

Krswieramb ihl&emnsseners s euefu|miser
1. chairman of the NITI Ayog
NITI g,Cun&élen Femeeur
2.chairman of the InterStateCouncil.
rHlek s eEndse QoL Cuwnars e andleder Hemeeur.
3.He plays a significant role in shaping theforeign policy of the country.
Brigen Qeuefluymeys Cameatensenw eugeuenwliudled GHNUNL 5555 LBIG
udl&Spm.
4.He is the crisis manager-in-chief at thepolitical level during emergencies.
S eusrheaasalarCurg Hrflwed wlLgdo CObmEsy Heavwenw
sorefllue) < eury
Select the correct answer
sflurer LS5 CsTH0SH &S WD
(A) 1,3 and 4 only
1, 3 wHmbd 4 LLEGW
(B) 1and 4 only
1 wHmb 4 wECwW
(C) 2,3 and 4 only
2, 3 wpmbd 4 wWLHGCW
(D) 1,2,3and 4
1, 2, 3 womwd 4
(E) Answer not Known
dllenL Qg flweildenc

116. There is a constitutional requirement to havea Minister in-charge of Tribal Welfare

for theStates of —
wrfeBsEpsE UPRGLUlar »psHmDsE Ourmlure JowFFy QUMmss
Cauanr(hd ereirg Sirflweenwlilgd Cseneu
(A) Assam, Arunachal Pradesh and Manipur

9EMd, mannsse NrCssd wHmD wewflliF
(B) Chhattisgarh, Jharkhand and MadhyaPradesh

g Savsy, grisarl. wHHL wHHwL NAFCssd
(C) Odisha, Maharashtra , Madhya Pradesh

@®14.&T, ETITaggrm, wHHwul NrCsesd
(D) Bihar, Jharkhand, Madhya Pradesh

Sary, grisarl, wsHul 9rCsewn
(E) Answer not Known

dlenL Qg flwellcrenc
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117. Consider the following statements withreference to the State Council of Ministers:

wrileo mwEFfser Gweneull upMw Meramd & ensseners s o e kg6
1. The Council of Ministers shall beappointed by the Governor on the advice of the
Chief Minister.
wsomw&sflary, Canrgmartlen CuUflcd HmESTEHET GO < E@HBHITED
Hu&slu@w
2.The Constitution specifies that the size of the state council of ministers, including
the chief minister, shall not exceed 15 percent of the total strength of the legislative
assembly of that state.
Srflweeawliy, wrhleo awesFfser Geler Jerancud b LMHSSHen
slLUCuremauuienr Qwrgs uasde 15 ssaissms FTETL_ &L T eren
CHINIRIGEAE:
Which of the statements given above is/are correct?
CulGao Gerhs&sluulLspnseie erg sflurearg/sflumearg?
(A) 1lonly
1 LG
(B) 2only
2 wL(HW
(C) Bothland2
1 womwb 2
(D) Neither 1nor 2
TFad Qoeme
(E) Answer not Known
aenL Qsflwellcrenc

118. Which of the following statementsisincorrectregarding Central Council of Minister?
wsHwu wHAHA semu CQFrT_Furs NGeraupBd THS MEMS Heupreng?
(A) The Council of Ministers shall be appointed by the President on the advice of the
Prime Minister.
wHSfl mwssrames NrswHF Y Corsmariler Cufled GUWrs SeneurTed
Hu&sLiu@w
(B) The ministers shall hold office during the pleasure of the President.
Glwra semeeauflar al@mLusdenr Curg enwssfser L el cudllLITTSEr.
(C) The council of ministers shall be collectively responsible to the Lok Sabha.
SMDESTHET G WEEHMMaUES Sl Lrsl QumrmuCupns Ceuer(ibd
(D) The salaries and allowances of ministers shall be determined by the President.
S &srsafien Fbuerd LHMHILD QSTOLUMESE Gl4WTS $MOGUTTE
Swreflésu@L
(E) Answer not Known
cenL Qgflweilcrenc
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119. Consider the following statements:
ereumLd <& 6en & &6 6 S & 6u Gl UL i1 & 6T
1. There is no mention of the Subordinate courts in the Constitution of India
Qpdu srfluemwliyg FlLsdd Spenw FHoearpriser LHH S
GOLEL UL efldene
2.The control over all the subordinate courts in the district lies with the Governor of
the state.
LIl LGS 2.der ymeandg SwenwBdoearphiseien Wgrer s @LUUTE
2 @pBILLD 2 drerg)
Select the correct answer from the codes given below:
EC Qar@ssuulperer GHUGsaflaBbg Fflurear LHmwsGsIH0sHSSaWD:
(A) 1lonly
1 LW
(B) 2only
2 vl
(C) Bothland2
1 wHmwb 2
(D) Neither 1nor 2
b Qoene
(E) Answer not Known
dlenL Qzflweldena

120. Consider the following statements regarding the District Judge:
wraull FHud Qarjumen KemeumHd i ens s enar s s el el ks er:
1. The District Judge is appointed by the governor of the state in consultation with the
state high court.
wrel L fHudew wrheo o E@ni wrheo swifdvamsd b sobg
< Carsenen Qg BHlwbliumy
2.The matters regarding the promotion of the District Judge are vested only with the
High court of the state.
wreulL BHudulenr ugel 2 wiey Qsrfurer leusTrEiseT cusb wrHe
2 wifHwearnsSHLbwlHCw o drerg
3.The District Judge has no power to award the capital punishment.
yem FerLenen alphis Il L BHuHsE Hamrb Qoame.
Select the incorrect answer using the codes given below
ECY Qsr@sasLiLL (Herer @Muibh e LweaTL(H S seuprear ufenew$CsTH0S H & & ey
(A) 1and2only
1 wHmibd 2 wLECW
(B) 2and3only
2 wpmd 3 LLEGW
(C) 1and3only
1 wHomb 3 wLECwW
(D) 1,2and3
1, 2 wpmw 3
(E) Answer not Known
alenL Q5 flwelcenc
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121. Which of the following is true regarding the qualifications required for appointment

of a person as a District Judge?
@@ buemy wralL BHudurs Hwublsss Csmeauwnear FGHsear QFTFurs
ereuheuemeupdledr erg 2 eamenin?
(A) He should have been an advocate for a minimum period of five years.

S GMNHSULEFD BB YJarOser aupssHermas@mbHmss Couam@HLb.
(B) He should be in the service of the central or state government.

el wHHL dag wrhle HyrFmssdaCsaauiier Qmss Couem@dLb
(C) He should be recommended by the high court for appointment.

Sauf Huwearsdpsns o wi fHoanmssrouflbgarssiiuL. Ceauam@HLb.
(D) All of the above

CuCGa o drer enensgb
(E) Answer not Known

aenL Qg flweilcrenc

122. Consider the following statements with reference to the District Judges:
wraulL fHudseners updu Neraumd Ml en s s enerd & eu e ks e6r:
1. The appointment, posting and promotion of district judges in a state are made by
the governor of the state in consultation with the Chief minister.
em wrhogdad wraulL BSHudseier Huwwerd, ugel 2 wie wHML L el
2 wie WyomwEFHLar sabsTCOTSSs wrhe o EpBrrod CewwliubEerer.
2.The control over posting, promotion and leave of persons belonging to the judicial
service of a state is vested in the high court
em wrhogdar FHszmp Csameu Caihsauiseien Lsel 2 wfey, WHMHILD
ey Wsrer s Guur® 2wifHwearnsHb o drerg
Which of the statements given above is/are correct?
CulGa Gsrhs&siulLspnseice erg sflurearg/sflurearg?
(A) 1lonly
1 wLEW
(B) 2only
2 L (H
(C) Bothland2
1 wHmwb 2
(D) Neither 1nor 2
T Qoene
(E) Answer not Known

cenL Qg flweilcrenc

GS01-010624 61 www.mntfreeias.com



.‘NPSC - Group - I - Online Test Series
123. Consider the following statements about Tribunals in India:
@pdwurailed 2 erer SFlLTuUBmSE LuDOw NeTeUHL & end S en 6ré & 6u 6l W ki & 6
1.The Constitutional provision for Tribunals was added through the 44th
Constitutional Amendment Act.
SruunuBisEpdater Hrfwueamwly gour® 44eug rHueamwliGea Hmsss
sl epod CaisaslulLg)
2.Tribunals do not have power to punish for contempt.
BHwemn euwdliLsEeg sarLmen G HHaETTD Qene.
3.Tribunals can be created only by the Parliament and not by State Legislatures.
SruurnuBiseneruryr@pwerpd WL GG 2 (heaurss igujb, wrhle
FLLLDGTMEISETTE) V6.
Which of the above statement(s) is/are correct?
CuwGo o drer gapmsafler erg sflwmeng?
(A) 1only
1 wLEW
(B) 1and2only
1 wHmibd 2 wLECW
(C) 1,2and3
1, 2 wHpmb 3
(D) None of the above
CulGa ergajd Qaoeame
(E) Answer not Known
clenL Qg flueilcrenc

124. Consider the following statements:
ereumLd <& 6n & & 6n 6l & & 6 Gl | 11 & 6T
1. Article 39 A of the Constitution provide for free legal aid to the poor and weaker
sections of the society, to promote justice on the basis of equal opportunity
sepasHarifleyser, Fo aumiiy Hylivemruid FHeaw CuobLB S50
Qsrjurs rfluweewliber 39 g KWfle] g LHMWD HHS6TSHEHSS
Qoas sl 2 561 aupnGSng
2.Parliament enacted Legal Service Authorities Act for providing free and competent
legal services to the weaker sections of the society
spssdlen pllauan By KflelarmsE Qoaus sl 2 5als6 uPBRIGUSDETS
urgrE@sLanD FUL LU g meamu FLLSMS 2 (Hheunsdsluererg
Which of the statements given above is/are correct?
Cula Qsmr@ssiulLgpmseaicd erg sflurearg/sflureng?
(A) 1lonly
1 wLEW
(B) 2only
2 @b
(C) Bothland2
1 wHmw 2
(D) Neither 1nor 2
rglajb Qoeme
(E) Answer not Known
cdenL Qs flweilcrenc
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125. Consider the following statements with reference to the Central Administrative

Tribunal:
wsHw fieurssHerdriumund GollLer KNereu@D HNEMEHmend 6w ks e
1.Article 323 A empowers the President to provide for the establishment of
administrative tribunals.
rflweewliy Wfley 323 A fjeurs SFlumub®LUILSHNEG G4WTs
smOaHSG HFanrd yellsfng
2.The Central Administrative Tribunal is notbound by the procedure laid down in
the Civil Procedure Code of 1908.
wsHw Hieunrs Sruumub Heled perL(penp FUL1b.1908 Qemreu@ssluLlL
oL (penn&E SLGiLiLLaldene
Which of the statements given above is/are correct?
CulGeo Gsr@hs&siulLspnseice g sflurarg/sflumerng?
(A) 1lonly
1 LR
(B) 2only
2 L HW
(C) Bothland2
1 womwb 2
(D) Neither 1nor 2
T Qoene
(E) Answer not Known

cenL Qgflweilcrenc

126. Who/Which of the following decides the question of disqualifcation of a member of
the Parliament, arising on the ground of defection?
LS STeudd aSTrewons er(Pw umymepwern 2 plilerfler 5@5 Baésb GMSS
Caaraflenw emeu@euameupmdled wni/ereuf (pige| GEwuSpry?
(A) President of India
BpHu g
(B) Supreme Court
2 §& BSlwermd
(C) speaker / chairman of the House
FUMHTWST OG Semeauly
(D) Election Commission
Caised g, ememrud
(E) Answer not Known

cenL Qg flweilcrenc
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127. Which among the following subjects come under the Concurrent list?
Nemeumd ur_mgefle ergl Qumrgliuliguwelody aummng?
1. Population control and family planning
L&ESEHTeNS sL_GLUTH wHMD GSOLUSE sLELUTEH
2.Registration of birth and death
Wiy wHgid @ouy udley
3.Public health and sanitation
Qurg &STHTTL LHMID SSTSTFLD
4.Electricity
e FmyLd
5.Labour welfare
Qs rfeomery Beveir
Select the correct answer using the code given below.
EC QarRssLuulRerer @MUl enL U LweaTu@S S sflwuner uHanasCsFH0SH &SaLb.
(A) 1,2,4and5only
1, 2, 4 wpmbd 5 LLEGCW
(B) 1,2,3and 4 only
1, 2, 3 wpmbd 4 wLEGCW
(C) 1,4and5only
1,4 wombd 5 LW
(D) 1,2,4and 5 only
1, 2, 4 vpmd 5 LLEGCW
(E) Answer not Known
dlenL Qg flwellcvene

128. Consider the following statements regarding North-Eastern Zonal Council.
ULSG-FPsEE warLe smu Qgrigurer NMemeuhLd s ens s en6rs & 66l U bis 6.
1.1t consists of seven North-Eastern states including Sikkim.
8&dlb 2 UL g auLdflpsE Wb seamersolsmer @ ererg).
2.It was created by a separated act of Parliament by amending the sixth schedule.
Q3 nreug LLeumean HmESSUULBH urrrepwearnsder safl s &Sen
epad QasmrearhHeurliulL g
Which of the statements given above is/are correct?
CulGa Gsrh&s&suulLspnseice g sflurearg/sflureang?
(A) 1only
1 b EW
(B) 2only
2 L HW
(C) Bothland2
1 wHmww 2
(D) Neither 1nor 2
rglajb Qoeme
(E) Answer not Known
dlenL Qg flwellcene
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129. The members of the Zonal Council consists of:
e a|ardlaier 2 mlieryser:

1. Union Home Minister.
LSS 2 adgemn MES].
2. Chief Secretary of the government of each state in the zone.
wear_ s 2 6rer gaibleurm wrhle rfer smoenwd GFwemery.
3.Administrator of each union territory in the zone.
wear_gdle 2 6rer gableunrm wellwearlrCsagdenr Hieurd.
4.Development commissioner of each state in the zone.
warLdSld 2 6rer eubleunm wrhlogder cueTi&dl o, emewrwiy.
Which of the statement given above is/are correct?
CulGe Gsrhssiul(perer smpmaseile erg sflurerg/sflwnerg?
(A) 1and2only
1T wHomb 2 w ECw
(B) 2and3only
2 wpmd 3 LLEGCW
(C) 2,3and 4 only
2, 3 wpmbd 4 W HGW
(D) 1and3only
1 wHomb 3 wLEGCW
(E) Answer not Known
enL Q5 flueilcrenc

130. With regard to Zonal Councils, consider the following statements:

wear_smusamert Qurmdsaieny, NeraHLd & ensseners s e e kiser:

1.The Zonal Councils are constitutional bodies established under Article 263 of
constitution.
warLogmugser el 263cugffleler S HmeuliulL rflwueenoliy
| MLOLIL| & 6T (G LD

2.They are only deliberative and advisory bodies.
el eleurgsd wHMWD Yy Corgmen enwliyser WLHGLW.

3.While forming these zones several factors have been taken into account like means
of communication, river system, natural division of the country etc.
Qs warLoBsmer 2 (haursgh Curg sseaud QT FTsamISE, b
Sjemwliy, Briger Qupenswrer Wfley Cumrenrm U Srranflser &emnrddle
TS5 &0 smeTer ILIL (heTere.

4.The Zonal Council promotes cooperation and coordination between the states that
share the region in a Zonal Council.
T Sejanfled warLsajan Sl KrmhHusams LSTHE C&mer(EnLD
wrfloksEpse QPaoLCu szl wHnD eErEHmariiean 2améEeilsSnsg).

Which of the statements given above is/are correct?

CulGa Gsrhs&siuulLspnseaice erg sflurearg/sflumearng?
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(A) 1,2and3only

1, 2 wpmb 3 wLLECW
(B) 2,3and 4 only

2, 3 wpmwbd 4 LLEGW
(C) 1,2and 4 only

1, 2 wpmb 4 wECwW
(D) 1,2,3and 4

1,2, 3 wogb 4
(E) Answer not Known

dlenL Qg flwelcens

131. Consider the following statement regarding the zonal council.
oL Femu GQsrjurden Gemeu@mbd Msmasanius & eoueflu|miser.

1.1t Is a statutory body.
Qs @@m FLLULTe el
2.Itis headed by the prime minister.
Qs Yrswi smeenuiley 2 érerg).
3.Currently there are four zonal councils in India.
sHCurg @bHwneller HTeNEG LLETL OFMLISET 2 66T 6.
Which of the statements given above is/ are incorrect?
CulGa Qasr@ssuul(erer fsamssaficr erg seupmeng?
(A) 1and3only
1 wHomb 3 wLECwW
(B) 2and3only
2 wpmd 3 LLEGW
(C) 1,2and3
1, 2 wpmw 3
(D) None of the above
CuGa eargajbd Qoama
(E) Answer not Known

alenL. Q5 flwelcenc
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132. With reference to the constitution of India, Consider the following statements:
Qi rfweenwlienul updlwu Gl e, K6re L e & e ard & 6 6l ki s 6
1.In case of a conflict between the Central law and the state law on a subject

enumerated in the Concurrent List, the Central law prevails over the state law.
Qumrgli uligwe sOUBSLILLL legwsded wHHw wHmD wrhe FLRSEHSE
Qe Cw s&srey gnulLnd wrileo FLLHms N wHHw FlL b CuolommiEd
2.If the state law has been reserved for the consideration of the president and has
received his assent, then the state law prevails in that state.
Qurgl uligwe elagwsde wrhessSTOQUODLILLL FLLBISEH GlgWrs
samaalflargawdenw QUL ULFSHO HF wrHsded HHS FLLLD
CuGemmi@Lb
3.Parliament cannot override the state law when it has received president’s assent.
Gwrasd smaaflaralsmalitupne earorhaodsl L ms BHTLTEHLEDLD LD
Plgwimg.
Which of the statements given above is/ are correct?
Culao Qarhssiul_@erer smpmseicd erg Fflureang?
(A) 1lonly
1 LR
(B) 1and2only
1 wHmb 2 LLEGCW
(C) 1,2and3
1, 2 womb 3
(D) None of the above
Cula eagiajb Qaena
(E) Answer not Known
denL Qg flwellcvenc

133. Which of the following can establish a common High Court for two or more states?
Nemreu@heuameupdles erg Qream® oeg HZHEG CoHpulL wrHeBsEsd
Qurgieunenr 2wy BHwearndens Hmeu pigujbd?

(A) President of India
G WIE SHeneauly
(B) Parliament
LI T [ IT (@I, LD 657 ) LD
(C) Collegium of Supreme court headed by Chief Justice of India
2 §5 BHweamsder QaradPuid smaawule QrHu Famomw FHUSH
(D) President of India in consultation with Chief Justice of India
QiHug smaamw FHuHyULa@BHLE GRWIHd smaa] I Corgamean
pL58
(E) Answer not Known
dlenL Qg flwellcrenc
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134. In the context of Indian polity, Consider the following statements:

QiHu rflwed G, Meraumd ihl&enssenars s ouefu|kiser:
1. The Parliament has the exclusive power to levy taxes on subjects enumerated in the
concurrent list.
Qurg ulgwele QFrdeuulL dleqwhige g FLb QuUbDDnesHS
NWrsSCuswrer flasryb UTTTERLETDSSHLLD 2 eTers)
2.The residuary power of taxation is vested in parliament and state legislature on
their respective fields.
SHs5HS GempsartgrjyenLweifledSlliLyssrer aedlu HHsrb
urgr@pwernd wHmL wrhe &L wernsSn@e ererg)
Which of the statements given above is/ are correct?
Culao Qarhssiuul_@erer spmseice erg Fflureang?
(A) 1lonly
1 LR
(B) 2only
2 bl @b
(C) Bothland2
1 wHmw 2
(D) None of these
Cula eagejb Qaoame
(E) Answer not Known

dlenL Qg flwellcenc

135. What is the minimum age to be appointed as the Chief Minister of a state?
@@ wrhlosder Wsomwesrms HUBESILOMSDEITE GODHSLLE UG 6Tee?

(A) 25years

25auwg)
(B) 30years

30cuwig
(C) 35years

35auwig
(D) None of the above

CulGeo eargajbd Qdoame

(E) Answer not Known

enL Q5 flwellcrenc

GS01-010624 68 www.mntfreeias.com



"NPSC - Group - I - Online Test Series

136. Consider the following statements regarding Centre-State relations:
wsSw-wrhleo 2 peyser CQgrjurear Merambd & sseners s ouefu|miser:

1. The power to initiate an amendment to the Constitution lies only with the Centre.
SrflueemwllyFs L sHoH(hss55ms5s5 CBSTLEIGL HIHsTrL LSHU T&HsEG
L GG 2 drerg).
2.The State has overriding authority over the Concurrent List.
Qurgili ulywalSg wrhesdde Cwlewbsurflurear HHETTDH 2 crerg.
Which of the statements given above is/ are correct?
CulGa Qasr@ssuul(perer smpmseile erg sflwmeng?
(A) 1lonly
1 LW
(B) 2only
2 bW
(C) Bothland2
1 wHmw 2
(D) Neither 1nor 2
rglajd Qoeme
(E) Answer not Known
alenL. Q5 flwelcensc

137. With reference to administrative relation of Centre-State, Consider the following
statements:
wsSw-wrhegder Hiunrs e peneas LuHd, KWereu@HDd S enssemens s eu e n & e
1.Judges of the State High Court can be transferred and removed by the president.
wrfle 2wi FHwean FSHudsamer GuUWISS Fenaul LIHDHOTD LHHILD
B&EamLb.
2.During the National Emergency, the Centre was empowered to give executive
directions to a state on ‘any’ matter.
Csflu ausy Hevawler CurgwrhesdnE aHs @M
NeagwsSabafasrHsosmenyd GFlw wLHHU Yr&s@ HSeTrn 2 drerg
Which of the statements given above is/are incorrect?
Cula Qsr@ssuul(erer fsamssaflcr erg seupmeng?
(A) 1lonly
1 LLEb
(B) 2only
2 wLEW
(C) Bothland2
1 wHmw 2
(D) Neither 1nor 2
rglajd Qoeme
(E) Answer not Known
denL Qg flwelcenc
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138. Which of the following statements is/are correct with regard to the consequences of

the proclamation of a Financial Emergency?
RS gausrflenlrs_asden olenereyser Qamjurs Memeu@mbd Hfsanssaflc
ergl sflureng)/sflwmeng?
1. Centre acquires full control over the states in financial matters.
fé ceusnriisefles wrflomseaien g Wwsd sLEUUILmL wHHWU s
CQuUMEADG.
2.President may reserve all money bills or other financial bills for consideration after
they are passed by the legislature of the state.
wrfleo slLweamsded HeapCauppliulL Hemardg uer wHmb HH wCsrsm
Ghwrs seomoaflar LABZMOIEE @FHSSLILGHLD.
3.President may issue directions for the reduction of salaries and allowances of the
judges of the Supreme Court and the high court.
2 §5 BSlwerpd wHmbd 2wy FHwery BHudseflen sFbuerd wHMILD
Qaerhlueresemerd GenplLiLsnanar auflsm_Hisosmer GlgTsH Seneell
GULPMEIG GUITLD.
Select the correct answer using the code given below.
EC Qarhésiiu@erer @MuiLenL L twearu@® S Fflwuner LHmesCsTH6sH &S e Wb.
(A) 1lonly
1 LKW
(B) 1and2only
1T wHmb 2 L EGCW
(C) 2and3only
2 wpmwd 3 LLEHGW
(D) 1,2and3
1, 2 womwb 3
(E) Answer not Known
dlenL Qg flwellcrene

139. Which of the following has the power to admit a new state into the Union of India?
Yereupeuameupdled aThs @@ UHw wrhlesamns QHHu earwugieo CaisEL
HSTID 2 6rerg)?
(A) Parliament
LI T [ T (@TF LD 657 ) LD
(B) President
ganrSugl
(C) Union Government
wHEHw rs
(D) Supreme Court
2 §& BHwenpld
(E) Answer not Known
dlenL Qg flwellcrenc
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140. Articles 358 and 359 of the Indian Constitution deal with which of thefollowing
situations?
Qrdwu srflweenwinier GNfley 358 wHmb 359 Weeu@wb THS EGLHmamw
s WreTSHmng)?

(A) Proclamation of National Emergency under Article 352
fley 3526 & CaHlw eusrfere NrsLarbd
(B) Financial emergency under Article 360
Wfley 3606 & A eusyHene
(C) President’s rule under Article 356
9fley 3566 & GWrsH Senauf L 8
(D) President’s rule under Article 365
9fley 3656 & GUWIs Fmaeaufy L 8
(E) Answer not Known
dlenL Qg flwellcdene

141. Consider the following statements:
ereumDd & en&senaensd & cuel ki & e
1. The proclamation of national emergency must be approved by both Houses of
Parliament within two months from the date of its issue.
Cslu ausrflene KrsLend Qeuaflui v’ L preflellmbg & rer@h
ISEISEHSGeT LTFTEhwernSHen Q(H eneusearTabdnidsfléasliL
Geuettr(hiLb.
2.If approved by both houses of Parliament, the emergency continues for six months
and can be extended to an indefinite period with the approval of the Parliament
every six months.
BrLT@hLemSSlen @ MeusEHL @LILSH aflssmd, eusrhleane < m
LISHRIEEREGS CSTL(HW, CoYD M WISESEHEES RHIPMD HILTEHLGDS
HaT@lLSILTSTamTWUHNSTOSHDGSBL 468U TLD.
Which of the statements given above is/are correct?
CulGa Qsmr@ssuulLgpmseaic g sflurarg/sflureng?
(A) 1lonly
1 L @b
(B) 2only
2 bW
(C) Bothland2
1 wHmwb 2
(D) Neither 1nor 2
rglajb Qoeme
(E) Answer not Known
cenL Qgflweilcrenc
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142. Which one of the following statements is correct about the Right to Education?
swal 2 flenw updlw Kereumd sapmseilcer erg Fflwmerg?
(A) Itwas added after the passage of the Right to Education (RTE) act.
soell 2 flenwé sl (i) HeopCaunpuulL GYne @5 CsrssuulLg.
(B) There was no provision in the constitution for free and compulsory education for
children before the 86th amendment.
866cugiS(H555HDG W GLRHMSHEHEHES Qoeus HMID S LTWSS0NESTeN
ahs goUThHL rfwueanblifd Qdoeane
(C) It includes that the state shall endeavour to provide education for all children
until they complete the age of six years.
QM Wy HlevpeumLubd cueny Mg GLRHMSSEHEGLD Sl auEIS
Srs wwhHd Qeww Ceauar@b ererug Q@0 L BEGLb.
(D) This provision makes only elementary education and not higher education a

fundamental right.
Qs gHur® Y roussadelaw LLEGCL QFLdng, 2 wisdelggliLem
2 flend eve.
(E) Answer not Known
dllenL Qg flwellcvenc

143. Withreference to the proclamation of national emergency under Article 352 imposed
till now, consider the following statements:
QuCurg aueny affsasliulL 9fley 352 Qe & CaAw ausrHaalINFsLadansLl
updlu @Oy er, ereuhd s ens s e 6 s & 66l b & 6
1. So far, a national emergency has been proclaimed two times.
gy, Gl eausrheoe Qrar® wenp Wrs_arliL@ssLuULHerearg).
2. Thefirst proclamation of national emergency wasissued in October 1962 on account
of Chinese aggression in the NEFA (North-East Frontier Agency)
NEFA (au-lp&@ aamaliynggensl) far o sfmflly srreamors &CLTUF
1962@Qe Gl ausrflenew s rsLerd Ceseflu b’ g.
3.The second proclamation of national emergency was made in 1975.
@Qram_reaug CsAlu geusrflened GrsLeard 1975@6 QawiwliulLg.
Which of the statements given above is/are correct?
Cule Qar@&ssiulLspnseiled erg sflurearg/sflumerg?
(A) 1lonly
1 L @b
(B) 2and3only
2 wpmd 3 LLEGW
(C) 2only
2 L HGw
(D) 1and2only
1 wHmib 2 w ECw
(E) Answer not Known
cenL Qgflweilcrenc
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144. On aparticular day, 150 members are present in Rajya Sabha at the time of voting. In
this scenario, a constitutional amendment bill, under Article 368 of the constitution
@@ GO L prefled, aurdsalisgd Crrsda wrhlomsareanauiler150 o mililenyser
o atenany.  @B% GLHaeould, rflueawllad68agllfleldr & @@
Srflueemwliy SHmss wGsrsreaeaeamrm HepGaudn g ub
(A) can be passed with the support of only 75 members.

75 e pulearyseafien gy srei_en LLEGCL HamGeuhm wpgujb.

(B) cannot be passed with the given strength of members present for voting.

anssaflsEs o drer 2 plilerysaflenr CQar@ssiul L uasgLer HleannpGaum
Pl wrgl.

(C) canbe passed with a support from minimum 100 members.

GoppsuLsnd 100 e pulaiseiler < sreay_er HlevpGeaupm (LpiguLd.
(D) cannot be passed without support of atleast 123 members.

GopBsuULsD 123 e pulearfseiler o576 @ommwed HanGeaunpm pguwng).
(E) Answer not Known

clenL Qgflweilcenc

145. Which of the following are the federal features of the Indian Constitution?
Mereueuameaupdler @B rfluoenwlifer gl L bshiser wreneu?
1. Dual Polity
Qrien, IEThIGLD
2.Integrated Judiciary
eGrdmanss HEsgemp
3.Bicameralism
B emeu
4.Written Constitution
TESLLLL rflwueenioliy
Select the correct answer using the code given below.
ECy QarRsslul(erer @Ml en U LweaTu@S S sflwuner uHeanwsCsFH0SH &SaLb.
(A) 1,2and3only
1, 2 wpmb 3 wLLECW
(B) 2and4 only
2 wpmwd 4 LLEGCW
(C) 1,3and 4 only
1, 3 wHmb 4 wLECW
(D) 1and3only
1 wHmibd 3 LLECW
(E) Answer not Known
cenL Qgflweilcrenc
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146. Consider the following statements :

Mereu@ld SMSemasamersd & eoueflunigenr:
1. Article 1 describes India as a federation of states.
Wfley 1 @BHwreneu wrflowmiseflenr FolLenwiiy eremm eleufl&Hng.
2. Currently, India has 28 states and 8 union territories.
snCurg, @ndHwureie 28 wrhleomsedr wHmD SwelwearlyCssriser o drerer.
3.The names of states and union territories and their territorial extent are mentioned
in the third schedule of the Constitution.
Srflweeamwlifer epearmrag L euenamruic wrHleomiser bhHmb
wealwearrCasmisaienCluwiser wHmWL eupdler NrrhHu jerey
GO LUl (ererg).
Which of the statements given above is/are correct?
CulGe Gsr@ssiulLspnseaice erg sflurearg/sflurearg?
(A) 2only
2 wbLEGW
(B) 1and2only
1T wHmb 2 w ECW
(C) 1and3only
1 wHmb 3 LLEGCW
(D) 1,2and3
1, 2 womb 3
(E) Answer not Known
enL Q5flweilcrenc

147. In which of the following cases, the Supreme Court held that the doctrine of basic
structure would apply to constitutional amendments after April 24,1973?
Mereu@pd eThHy eupsGseic, elre 24, 1973seu YUpe rdwueeamwliys
HMmS55BEEHSG SliuemLs sLLeanwlifer Csrlium® QUI@®mbBHIL ererm 2 &&
BHwerpd Fmdlwig?
(A) S.R.Bommai Case (1994)
erev. . Qumbeny eups@ (1994)
(B) Waman Rao Case (1981)
eumwenyred aps@ (1981)
(C) Kuldip Nayar Case (2006)
GOSUBTWF eupd@ (2006)
(D) Indira Gandhi Nehru Case (1975)
@udlrr s1pd G aupse (1975)
(E) Answer not Known
cenL Qg flweilcrenc
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148. With reference to the principle of ‘collective responsibility’ in India, consider the
1following statements:
@pdurailed ‘FmLGU Qummly Qsraremsewl upd, Wemeu@mL HHEmasmaend
& G ¥l W M1 & T
1.1t is a judicial innovation and not mentioned explicitly under the constitutional
provisions.
Qs em FHszon sar@®ligly winw HrAumawliyeldseafler S
QauaflienLwins GoHUL_ UL ebdene.
2.1t means that the Council of Ministers shall be collectively responsible to the
Parliament.
SemwEETemaILITITEsLamSSNG slLrs QurmuCupns Ceuer@Wb ererm)
SIT5H1b.
Which of the statements given above is/are correct ?
CulGa Qasr@ssuul(erer smpmseiled erg sflureang/sflwnerg?
(A) 1lonly
1 L @b
(B) 2only
2 wLEHW
(C) Bothland2
1 womwb 2
(D) Neither 1nor 2
b Qoene
(E) Answer not Known
enL Qg flwellcoena

149. Which of the following countries have a federal system of government?
Wereupd prhiseafcr aTHs BrE salLrldl L8 wpeapamwselsmear®ererg?
1.India
Qb SHwim
2.United Kingdom
&S @rrsfwd
3.Brazil
NCrdle
4.Mexico
QusACaT
Select the correct answer using the code given below.
ECy QarRsasuul(erer @MUl en U LweaTu@SSH sflwunear uHeanwsCsFH0SH &SaLb.
(A) 1,2 and 3 only
1, 2 wpmb 3 wLECwW
(B) 1,3 and 4 only
1, 3 wHmib 4 wLECW
(C) 2and 4 only
2 wpmwbd 4 LLEGCW
(D) 1and3only
1 wHomb 3 wLECW
(E) Answer not Known
dlenL Qg flwellcvenc
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150. Article 51A of the Indian Constitution provides for the Fundamental Duties. In this

151.

context, which of the following acts have a bearing on the implementation of some of
the Fundamental Duties?
@pdu  rilueawifear Wiley 51A liuamLs SLawsamer uPBIGHDF.
QBzsFGpdd, Uearaumb ahsFosuasda Ho YulUmLs SLabSmend
Qewou@sgaudle sréssms gHUbSSFHearmen?
1. Prevention of Insults to National Honour Act (1971)
Brligenm GU@menw eauwdssiuhaang L GEFuwd Flrw 1971
2.Representation of People Act (1951)
wasear Krdhdsgeus siLw (1951)
3. wildlife (Protection) Act of 1972
cuanellorli@ (umrgsriy) sl 1972
4.Unlawful Activities (Prevention) Act of 1967
LG BLagSamsser (sHLUY) sl 1967
Select the correct answer
sflurer LHmasCsTH0SH &S a|WD
(A) 1and3only
1T wHmb 3 LLECW
(B) 1,2 and 3 only
1, 2 wpmd 3 LLEGCW
(C) 1,2 and 4 only
1, 2 wpmd 4 wLEGW
(D) 1,2,3and 4
1, 2, 3 wpmwd 4
(E) Answer not Known
denL Qsfluieilcrenc

Consider the following statements:
Nereu(BHLd < & 60 & & 6n 6T & & 6l Gufl U i1 & 6T
1. For the Parliament to make laws with respect to any matter enumerated in the State
List, a resolution must be passed in both the Houses of the Parliament.
wrileol ulguweld uliguwel Ll Gerererssoleum e o @b BT m@n L 6rmLd
slLBisener @Qupm Ceuamr@omermed, BILT@EhL6TDSSenr Q@ 6en6udarfiayd
Sgwrerd HenpCauppliuL. Ceusr@Lb.
2.Aresolution passed as stated above can be extended beyond one year.
Cula splulLugfapCauppliulL Sforad errar@seg G
BLligssLLLemLD.
Which of the statements given above is / are correct?
Cule QarhssuulLsmpnseie org sflureng / sflurerg?
(A) 1only
1 LLED
(B) 2only
2 b @b
(C) Bothland2
1 wHmwb 2
(D) Neither 1nor 2
el Qoeme
(E) Answer not Known
cenL Qgflweilcrenc
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152. Assertion (A):The All-India Services violate the federal principle of the Constitution

as well as the autonomy of States. Reason

Reason (R):The All-India Service officers are governed by Central Government rules
and the State Governments do not have full control over them.

adlymssa(A):  marsdisu  Coameausear rflweenwliGer  smlLml&s
Qareatensenwwd wrhomiseier swrlfewwd L5mdermne.

&IT[J 6U0T LD (R): Sjen e s S SHw GCaenau S danflger g Sw e
MflsearmoffaudlssliuGSprisear wHmb wrHe rESERsEG Seuiser WBH WWws
sLUUThH Qeeane.

(A) Both A and R are individually true and R is the correct explanation of A
A wpmid R @ravhn saissalluns o arenw whomb R ererug A Qe
sflurer eSlerd &L
(B) Both A and R are individually true but R is not the correct explanation of A
A womgb R @rewm@w seaissalluns e arenw g amed R eremug A Qe
sflurer NeT&SHLD eV
(C) AistruebutRis false
A o amend yermed R eremug QU
(D) Aisfalse butRistrue
T SUDTETG Y ETTD T 2 ETenLo
(E) Answer not Known
clenL Qgflweilcrenc

153. Which of the following is not a principal source of non-tax revenue of the Union?
Wemeuheuareupiiedr erg welwaien eufl derg eu@meuruiler (PS6meNLd ,STTLONS
@Qaoene?
(A) Posts and Telegraphs
Qhmsaser wHMLD FbHser
(B) Broadcasting
gaeflurliy
(C) Forests
&n(H & e
(D) Opium
-
(E) Answer not Known
cenL Qgflweilcrenc
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154. Which one of the following is the correct statement?

ereuheuameupdled erg Fflwimer Fapm?
Aresolution passed by the Council of States under Article 249 empowering Parliament
to legislate on State subjects in national interest remains in force for a period:
249aug9feflenr S wrilemsda sejaflorofapCauppliiuL Siwrern, CzHw
b ssnsworhlolur_kige 5g FLLb QuUOnausHSETLIEHLaNSHDEG HHSTTLD
el &S mg:
(A) Not exceeding six months
M WLISESEFSES WISTDD
(B) Not exceeding two years
Qran® Y arhEEhsE Wsmoeo
(C) Not exceeding one year
0B AUGL5HDELsMo
(D) wunlimited time
augupm Crrw
(E) Answer not Known
adenL Q5flweilcrenc

155. Which of the following constitutional provisions facilitate Union control over States?
Werau@pbd aTHs rflweeanwliyeidae wrhlomseiler g weflwer sGLrumen
crafigns @ dng?
1. All-India services
flo @QpHu Ceemeuser
2.Grants-in-aid
2 5al565TMS
3.Inter-State Councils
Lo mifl 6o 81 & (615 & & @ 60 L G wim e & 61 65181 60 & 6T
Select the correct answer using the codes given below:
EC Qar@sasLul (et gHuiGsmerti LweTLBh S S sflwner LHamedCHFH0SH &SaLb:
(A) 1and2only
1 wombd 2 LW
(B) 2and 3 only
2 wpmbd 3 wLEWD
(C) 1and3only
1 womwb 3 LW
(D) 1,2and3
1, 2 wpmwb 3
(E) Answer not Known
cenL Qg flweilcrenc
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156. The idea of the Union giving directions to the States was adopted by the makers of

the Indian Constitution from:
), &9l wi etr Lo i) e0 1 & (6T & (& Gu LI S L (B & 60 & 6 6T GULPTEIG LD Curgenen QbW
Srflwueemwlieny 2 (haursSuafsermed gHnseamereriiulL g
(A) The Government of India Act, 1935
QrHwu s FlLw, 1935
(B) The US Constitution
Cwfls&srHlweenoliL
(C) The Soviet Constitution
Ceralw s rélweenoLi
(D) The Australian Constitution
2, HCreilwgrflweentoli
(E) Answer not Known
enL Qsflweilcrenc

157. Verdicts of the Supreme Court of India in which of the following cases have a direct
bearing on Centre-State relations?
Neraumb aThHy eups@sedie @bHw 2.5 BHoamsder SFlyser wGHw-wrHe
2 peysener Chrigwnasll LTS &S ermen?
1. S.R. Bommai Case
eTe. . QUmbend aIP&ES
2.Kesavananda Bharati Case
Cssaunanhs UMTTS QPSS
3.Menaka Case
Coearasr aup&o
4.Indra Sawhney Case
@udrrereuafl upsG
Select the correct answer using the codes given .below:
EC QsrRsasLLL (Heter GMuiHFmer LweTUB S sflwmer LHameosCsFH6SH &S e Lb:
(A) Only1
1 wLHGCW
(B) 1and2
1 womwb 2
(C) 1,2and3
1, 2 womb 3
(D) 2,3and4
2, 3 womwd 4
(E) Answer not Known
dlenL Qg flwellcrenc
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158. Which one of the following is the correct statement?
The rule of repugnancy has application in a case where:
ereuheuameupdled erg Fflwimem Fapm?
ooty a4 Gereumd sHsFlLBISafloUwWeaTLRSSLILGEDS:
(A) Both Union and State occupy two different felds in different Lists
weaflwer wHmbd wrhleow @rarhod CeauaGoam ULlgwasaid Qremr®
QeucuGeuml -GBS emen ey, & &Ll g erer e
(B) Both Union and State laws are enacted under the Concurrent List
weflwenr wHmd wrhle FlLmsed Qrar@Obsensyeam el igem &P
Quipprin@® e e
(C) The Union law is enacted under List III and State law is enacted under List II
weflwer b ulgwe |l Qer Sp QuodpliulL g wHmb wrfle L b
ulgwe Il Qen S Quoppliu@Hng
(D) The Union and State laws are enacted under the State List
wsHw wHMWL wrHle FlLmsda wrHouulguwede & QupoliuBSerpen
(E) Answer not Known
lenL Q5Flwelcrenc

159. Which of the following taxes belong to the Union exclusively?
Wereu@pd euflasefles erg MrsHCwswns wealuase Qsthswrearg?
(A) Customs Duties
&1 86U fl & 6T
(B) Land Revenue
e eu(meum
(C) Surcharge on Income Tax
aumwren auifl WsTenm F(BHe &HLL emrid
(D) Corporation Tax
sTuuCreage euifl
(E) Answer not Known
cenL Qg flweilcency

160. Consider the following statements on Zonal Councils:

wer_semuger LHMlw Keraumd & enssenens s eu e kg6

1. Zonal Councils were set up under the provisions of the States Reorganisation Act.
wrflokiser wofrenwliysslLgeareilfseien &P
LD 6T L_ 60 & 6 GOT F| 60 & 6T G LD & & LI LIL_L_6aT.

2.Zonal Councils discuss various issued of common interest in the feld of planning,
river waters, inter-state transport.
wearLose|arflasard Lo 0, S BF, wrhokisens@@eamLGuwrer
Cursgearss pdweaphed Gurgeurear oy Feurperer LwGaum
Qeueflud_ i Lg).

3.They enable the Centre and States to co-operate in evolving uniform policies in
social and economic matters.
seps LHMID QurmertsTy elegwmiseailer Gy wrSfwmer
QsreatensEmere (HeurdGausnNE WSHHW wHMD LIHOBSE RSFHMPES enal
2 5§61 6.
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4.Their decisions are binding on Centre as well as on State governments.
Sjaufseflen (piyeyser wHHW Hrs wHHWL wIHe yraser 5g SLEUUELD
Which of these statements are correct?
Qpsssmpmseile erg sflumerg?
(A) 1,2and3
1, 2 wHmd 3
(B) 1,3and 4
1, 3 wHmib 4
(C) 2,3and 4
2, 3 womw 4
(D) 1,2and 4
1, 2 vpmd 4
(E) Answer not Known
dlenL Qg flwellcene

161. Who among the following are the members of the Inter-State Council?
Spsaar_afseic wrfloksensfa_Cuurear sejandldlenr o mlifearfser wmy?
(A) Chief Ministers of the States/Administrators of the Union Territories.
wrilokisaier Wsodesiser/wealueanirCsenisafier Hifourdlser.
(B) The Prime Minister, all the Chief Ministers of the States/Administrators of the
Union Territories.
Krswi, mearss wrhle wsgoaiser/walwueanirCsesnisaflcn Hiyeurdlsear.
(C) The Prime Minister, Six Union Cabinet Ministers and all the Chief Ministers of
the States/ Administrators of the Union Territories.
Hrswi, m wWEHHU WESTMmeal HMEFTHET LHMWD enardg mble
waoauise welwerilrCsesrisafier Hlijeurdlser.
(D) The Prime Minister, Leader of the Opposition in the Lok Sabha and all the
Members of the Rajya Sabha
Ky, wésammel aHFEsSS smal] HMD emearsg WMHOESTn6
2 ML ey & Gir
(E) Answer not Known
dlenL Qg flwellcrenc

162. The Chairman of Zonal Council is:
DT FmLIUN6T &emaaul:

(A) The Chief Minister and is nominated by the Prime Minister of India
waenwEsy wHn QHHwuNrswrrouflbgenrssiiubBueur

(B) The Union Minister and is nominated by the President of India
wSHW Jenw&sf wHMD PHHWS GwWrassd saoarroufllbgamrssiiuGueur

(C) The Home Minister and is ex-offcio
2 aTgIemDN Sem&FSF LHMWD USeNuld QU6

(D) The Vice-President of India
@rdwuneler genewr ermSlLd

(E) Answer not Known
denL Qs flwellcrenc
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163. Under which of the following regimes was the Inter-State Council (ISC) set-up?
SpssamL by YL HAWer S wrilekisEps@QaLCuurar seardld (ISC)
SMWSSILILL g7

(A) Congress Governmentin 1975
197560 srhidlyev s
(B) Janata Governmentin 1978
1978@Qdo peansm rFmEisLD
(C) Janata Dal-led Government in 1990
1990@d geagsn Ferd Hameeanulleomer rs
(D) United Front Government in 1996
1996 @ g&Hw emerenfl HFFTEISLD
(E) Answer not Known
denL Qsflweilcrenc

164. Inter-State water disputes can be resolved by which one of the following?
wrhlokiseEpsfaLlorabil Gréflanarsaner  Neraueuameudie eTHem (LD
$768 (pigb?
(A) Supreme Court only
2 §5 BSlwearpd WL HGW
(B) Union Government only
wHHW rs WwLHLD
(C) Tribunals established by the Parliament by law
sUL UG UmFmEpweamssre Blmeuin’ L SFliumuwbiser
(D) Special courts established by the President of India
QpHwu gamdHufurdfimpeiule. Apiy BEwermEiser
(E) Answer not Known
denL Qs flweilcrenc

165. Which one of the following is the correct statement? “Full Faith and Credit” clause
of the Constitution does not apply to:
eraumeuameupdlcd erg Fflwner sapm? rflweenwliler ‘W BHLENEMS WHMHILD
sLenr Wfley @sHGLUOUTMHBSTS:
(A) Publicrecords
CQurg vdeyser
(B) Judicial proceedings
BHsgemm BLGulg&6nsser
(C) Acts of corporations
Hneuemmiseflen &L miger
(D) Publicacts
Qurgé Qewdser
(E) Answer not Known
dlenL Qg flwellcrenc
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166. An Inter-State Council may be established by:

wrhlokiseEnseQaLCuurear seajarfld Qeufsermed HlmieuliLL_emb:
(A) The Parliament
LI T [ T (@TF LD 607 () LD
(B) The President
genrdug
(C) The National Development Council
Csélu aueri&dl SHayendled
(D) The Zonal Council
LDGUTL_ G0 &6mLI
(E) Answer not Known

dlenL Qg flwellcenc

167. Which of the following statements on Zonal Councils are correct?
wear_semuser LuHdlw ereumd yfsamssafler erg sflwmeng?
1. They owe their existence to the Constitution of India.
Qpdu grflueemnlilg FLLSHDG uiser SLenwlill iy HaEnTiser.
2.There are fve zonal councils.
®HG LOETL_OFENLISET 2 GiTeTe.
3.They coordinate relations among the governments of the States and Union
territories and the Government of India.
oenas wrflomiser wHMWD wellwearGrCssmaer wHMD PHHW TeThISSSHen
STEMEISEIS @RS S Cuwner 2 mesemer ¢ (ISl en 6wt s & e 6.
4.They are set up under the States Reorganization Act, 1956.
Smau wrfleo wmErenwliysd s, 19566 & enwssliLL Hererer.
Select the correct answer using the codes given below:
EC QsrRsasLLL Herer GMuiHFemer LB S sflwmrer LHamedCsTH6SH &S e Lb:
(A) 1,2and3
1, 2 wpmbd 3
(B) 2,3and4
2, 3 wpmd 4
(C) 3and4
3 wHmid 4
(D) 2and 4
2 wHomd 4
(E) Answer not Known

cenL Qg flweilcrenc
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168. Law made by the Parliament with respect to any matter enumerated in State List,

during a proclamation of national emergency, will cease to have effect in which one
of the following conditions?
CaAw SjausrhenalilrsLardSHearGung, wrhleL L 1g wiedled
GSMUELLuL QerererhgCleum el aqw §SMHGDHTLTEHLTNSSTOL (HeUTss LI L
gL, Yemeu@mbd aThs Hlubsenens aflc6lFwemdmieiengblms s ?
(A) When the proclamation of emergency has ceased to operate
Sjausrflencols KrsLeand Qswoupeuensg HmnsHwCursg
(B) When itis repealed by the Parliament
S unpmEpLanSSTed rsHg CFlwliu@Gn Curg
(C) On the expiration of six months after the proclamation of emergency has ceased
to operate
Sausrsro KrsLard Csuou@eaumsbnsSu m WISESE bHSe L6
(D) On the expiration of one year after the proclamation of emergency has ceased to
operate
Sjausrhene KrsLemnd Ceuoupeams HnsHeal H @@ eu@mLLD
(PlgUenL_[HS 6L 6
(E) Answer not Known
enL Qg flwellcene

169. Which of the following statements is the correct one?
Wereu@pd sapmsefles erg Fflwimreng?
(A) War, external aggression, internal disturbance and armed rebellion are the
grounds for proclaiming emergency.
Guny, Qeuefluym < &Hrolly, 6 GUUL wHnWL PWSCoHHwu SHerjss
fwuemeu ausrfleanoeanu KWrsLarlLBSSIUSHESTR I|iqLILIML SETTELD.
(B) Words “armed rebellion” were replaced by the word “war” by the 44th
Amendment.
‘Quss Hearjssl” erenm eunisengser 44eugSlmssSHen epaw “‘Gumy”’ ererm
GUTTSEN S WITEOLDTMHMHLILIL_ L.
(C) Actual existence of any one or more grounds mentioned in Article 352 is necessary
for proclaiming emergency.
SjausrhenaliNrsLardHnE352augiiflelleo@dubbul (Gerear gCaab eerm)
oG BHNG CuHULL sTravhiseier 2 arenwwrer @MUY jeudlwibd.
(D) The President proclaims emergency on the basis of any ground mentioned in
Article 352 or possibility thereof.
2 miligeny352 @ea@hulLiul Herer Howg SHDasTeanr Frd Sl s g mn & et en
SgliuenLuiler garmdlud eusrhaoamwlibirsLaiu@®ssSnng.
(E) Answer not Known
dlenL Qzflwelcdenc
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170. If the President of India exercises his power as provided under Article 356 of the

Constitution in respect of a particular State, then:
Qrdws Grurss saoal M GOHUANLL  wriesmzl  CQuTmsseuey
Srflweamwlifear3S6eugllflefen S cupmslLLL HHsTrSensLILILTLR SSHearme,
L9 6t
(A) The Assembly of the State is automatically dissolved
wrfle FlLgmu sramsGo samodsliuBSns
(B) Article 19 is suspended in that State
oibs wriesdo Wfe) 19@mHnssiu’ Qs
(C) Parliament assumes the power to legislate on the subjects in the State list
wrfileol uliguweld o érer urLfigeile L QuUibnb HHsTrSmS
BrLm@EhLernd ghn&bsrardlmg)
(D) The President can make laws relating to that state
samdudl ons wrhow CFrLjure FLLESMmEr 2 (heaulss (WlgWLd
(E) Answer not Known
denL Qsflwellcrenc

171. When a proclamation of emergency is issued by the President under Article 352 of
the Constitution of India:
QpdHwu riuaamwlifar3b2augiAfleleanr & samfudurdgeusrhame NrsLeab
Qaueflull_inu@w Gumg:
(A) Fundamental Rights are automatically suspended
SigliuenL o flenwser srams QenHlmnsslL@ W0
(B) The freedoms under Article 19 are automatically suspended and other
Fundamental Rights can be suspended by an order of the President
2 pilieng19 Qe S o.6ter &FHIATEIGE FrennsCou QenLHmssLLIHLL
wHnib 9G9n Syliuem 2 flenwser gearmdluduiere ssreilen epeLd
Qe fmssLiLL b
(C) The freedoms under Article 19 are automatically suspended and other
Fundamental Rights, except those under Articles 20 and 21, can be suspended by
an order of the President
2 piiiyenr19 Qe S 2.6ten &FHIHrrser srams Qe HnsslLEL LHMLD
20 wpmib 21eugOfledenr i 2 atareneu Fally 9p jgliLienL 2 fenwser
samdudluficre sreden epod QenLHmssliLLmrd
(D) Only the freedoms under Article 19 are suspended and other Fundamental Rights
cannot be suspended.
Gfley 19 Qe S 2ater &FHIrmiser L HGCL QenLHlms s S enner
wHmL 9 SyluaL 2 fawsamar@amLnss pywrs.
(E) Answer not Known
enL Qsflweilcrenc
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172. Which one of the following is the correct statement?
Proclamation of Emergency in a State under Article 356 can continue beyond one
year if:
Yemreueuameupdledr erg Fflwmer Fapm?
slLU9fley 3566 S @@ wrHlesdHd eausrhael KNFsLaDd @@ @BLSIHDGS
Cuwe QFrLrFembd:
(A) The High Court of the State certifes that the situation in the State is very serious
prflesHo Heaoamw Waeaw Selgwrarg eaearm wrheo 2wi FHoerpbd
srenmaefl &S mg
(B) The Governor of the State certifes that the law and order situation is not under
control
FLLL @umng Hawamw s (&G Qome eearm wrbe o @HHF
sranpefl&SHpmy
(C) The Election Commission certifes that it is diffcult to hold elections to the
Assembly
slLsamusEE Csise BLSFeug shaib aearm Csise sleagersrearpeilssng
(D) The President is satisfed about the grave situation in the State through
independent investigation
aahirwrer allstrenemuilen cped wrHasSHed gHUL(HeTer LITFSTTLOTEN
Hemaoenw @Mss merrsudl SHmudwuenL g erermy
(E) Answer not Known
alenL Q5 flwelcdenc

173. Which of the following may be done under conditions of fnancial emergency?
fé eusrflenouien S Nereueuaraupied erg GFLIWLILILIL TLD?
1.Reduction in the number of districts in the country for effecting economy
QumrmerrarrsensCLLUGSSIUSDSTE BT 140 2 6Tem LML L EIg el 6
ramaflEmasamil GemnS S
2.Abolition of all State Legislative Assemblies to reduce expenditure
Qeavdlamsamers Gonss Jmardg wrhleo FlLuCurameusamerd @556
3.Reduction in the salaries of the judges of the High Court
2 wi BHwern BHudseilen Fouerd GemmLiL
4.Reservation of Money Bills of State Legislative Assemblies for the consideration of
the President
Grwursas smoaflauflfomars@ wrfleo FlLliCurameusafler wLewmr
wGargrsasener (perude CFuIgHe
Choose the correct answer from the codes given below:
EC Qarhssiu@erer GHluUGsalaBHg Fflwurer LHmewsCsiHOSH S S W:
(A) 1,2and3
1, 2 wpmw 3
(B) 2,3and4
2, 3 womo 4
(C) 3and 4
3 wHmid 4
(D) 1and 4
1 womw 4
(E) Answer not Known
cen Qg flwellcenc
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174. When a state fails to implement the administrative directions given by the Union
under Article 256 of the Constitution of India:
Qpdu  srfluemwlila256augOflefler S welwerauprflu  Hjeurs
st Hgosamer @@ WLMHoL QFuOUBHSHSSSeuderTe:
(A) Parliament may compel the state to execute the said directions
SapliulL aflsr_hsosmaflanCeaupmibig HILIEHLEDD HTs
Hrliub$H&sembd
(B) The Governor may dissolve the State Legislature
L @HBHT LIH® FLLLOGTNSMS M6 ESQMLD

(C) The President may presume that Constitutional machinery in the State has failed
wrfosded Srfwumanwliy apdrn CoraalueamLbHssrs G4Wrsd Sameeury
&(HSMLD
(D) The President may impose emergency under Article 352 of the Constitution
SrflueenwiifNeanr3d52 caugllifleder Sip gamdud eusrhanoenweidssenbd

(E) Answer not Known
denL Qgflwellcenc

175. Proclamation of emergency by the President of India can be made on the written
advice of the Cabinet only.
This provision has been added:
QrHus GLRWUIsd FSaaurred Seasrhaol KrsLadoms oanwdFrenseuiuler
Ty Y Carsamearullen Gufler LLHCWL GFLW Wgujb.
Qs gour® CsrssliLl(perers:
(A) After 44th Constitutional Amendment
Hagoriuaamoiysdnsssdocl KUIDG
(B) After 42nd Constitutional Amendment
Ragoriuamollysdnsssdier Une
(C) By the Constituent Assembly in the 75Constitution of India
QrHwu rfueemwliyssFlLghean/dSo 2 6rer Hrfwe B Femuwmed
(D) By the Supreme Court of India in 1975
1975 @& @pHwu 2§ BHwearmssme
(E) Answer not Known
dlenL Qg flwellcrenc

176. Which of the following ratio is smallest?
Mereu@pd elflgmasefles erg Adwig?
(A) 5:7
(B) 2:3
(C) 3:4
(D) 3:5
(E) Answer not Known
dlenL Qg flwellcrenc
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177. P: Q=27:36 and Q: R=28:27then P: R =?

P: Q= 27: 36 wpmd Q: R = 28: 27 eaafléd P: R =?
(A) 9:7
(B) 7:9
() 9:1
(D) 1:1
(E) Answer not Known

adenL Qsflweilcrenc

178. The ratio of two number is 3: 4. Their sum is 70 how much should be added to each

number so that their ratio becomes 5: 6?
Q@ aanseier alldlgwreang 3:4 eupder FBHise 70 eraflcr eupien el wreang)
56 95 wIHY s@IL 6 eTeueuene] Fal L GeuerBHibd?

(A) 10

(B) 20

() 30

(D) 40

(E) Answer not Known

alenL Q5 flweilcrenc

179. The ratio of two numbers are 4: 5. If five is subtracted from both the new ratio
becomes 3: 4. Find the smallest number?
Qm cransaflen aigwreang 4:5 SeupmLen gHms N&GLELTF Qeuail(m erewrs el 6
Ndlgd 3:4 wrmdpg ereafled eupdenr Adlw erew ?
(a) 20
(B) 30
(C) 40
(D) 25
(E) Answer not Known

cenL Qg flweilcrenc
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180. Certain number of girl and their cats or travelling by bus, the ratio of girl and catsis
5: 2. The bus has total 54 legs. find the total number of cats
@M MUl aaraflsmsuforear GCuear @Ebmgser wWLHML Seufsefler
yemeng@pd CumbHed Lweaflsdlearmen eufseaflen alflgw 5:2 Cumbde Grgsd
54 snoger o etaren erafler Yenansaflen Crss cramenflEamns ereucuerey?
a) 12
(B) 30
(C) 15
(D) 6
(E) Answer not Known

enL Qg flweilcrenc

181. What is the fourth proportional number of 12,24 and 26?

12, 24 womb 26 Qeupden Brensreug NHsT&smy orevwr?
(A) 51

(B) 52

(C) 56

(D) 12

(E) Answer not Known

dlenL Qg flwellcene

182. 0.16:x::x:0.64,thenxis
0.16: X : X: 064 , erafloo X ?
(A) 0.40
(B) 0.48
(C) 0.27
(D) 0.32
(E) Answer not Known
cenL Qgflweilcrenc

183. Theratio of the number of green and yellow balls in the bag is constant. When there
were 44 yellow balls, the number of green balls, was 36. If the number of green balls
is 54 then what will be the number of yellow balls?

@@ Ul oeTer LFME WLOHMID WEHEFE UbGSeflen cramenfliens olNfgd
Remoowneng. 44 wepsar upgsa QBHsCUTE ULsmE LHFZIGH aTaraismas 36.
uéems upgsafen cramenilsens 54 erafles wEhser UbGSaflen erameniisens eremen?
(A) 66
(B) 62
(C) 68
(D) 64
(E) Answer not Known
denL Qs flwellcrenc
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184. If the ratio of the angles of a triangle is 2: 3: 4, then find largest angle.
®m YsCsrawsder Camammseflen alflgwrearg 2: 3: 4 aafe Heumdler Guflw

Camemrgdlenm WHLIL eremen?

(A) 60°

(B) 90°

(C) 30°

(D) 80°

(E) Answer not Known

dlenL Qg flwelcdenc

185. If the three numbers are in the ratio of 2: 4: 6 and their sum is 360.Find the sum of
the smallest and largest number?
epenm eramsafien alflgbd 2: 4: beraficr eupenr smBye 360 Adlw wHmbd Cufw
cramSeien Fa(HBHe oremen?
(A) 220
(B) 260
(C) 240
(D) 140
(E) Answer not Known
en Qg flwellcena

186. If x:y = 2: 4, then (2x+y): (3x+2y) =
X:y = 2: 4, eraflleo (2x+y): (3x+2y) =

(A) 4:7

(B) 7:4

(C) 14:8

(D) 4:8

(E) Answer not Known

dlenL Qg flwelcdenc

187. The ratio of two numbers is 3: 4. The sum of their squares is 625. What is the sum of

the numbers?
Q@ eramwseflen cldlgwreang 3:4 eupden afersasmsailen sgmbBso 625 earafler b
cramasaflenr FabHido Hmewrs
(a) 5
(B) 35
(C) 25
(D) 15
(E) Answer not Known
enL Qg flwellcrenc
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188. If x:y=14:18 and y: z = 30: 14, what is the value of x, z ?
x:y = 14: 18 y: z = 30: 14, erafled, X, z wHIY?
(A) 3:5
(B) 5:3
(C) 4:3
(D) 4:7
(E) Answer not Known

denL Q5flweilcrenc

189. If x:y = 2:1, then what is x3 + y3: x3 —y3
x:y = 2:1 eraflew, x3 + y3: x3 — y3 ?
(A) 9:7
(B) 4:7
(©) 7:9
(D) 3:4
(E) Answer not Known
denL Q5 flweilcrenc

190. The ratio between present age of Aruna and Jagan is 5:7 respectively. After eight
years Aruna’s age will be 28 years. What was Jagan’s age 6 years ago?
Simewrm wHmib Cgsear Y HCunflenr sHCurensw euwg Nflgmasear wenpGu 5:7.
T LS 5058 menmeilen cuwig 28 erafled <y m auLLd ey Clgseaen
QUWIZ| GTemeNeUnd @ (H&GLW?
(A) 28
(B) 22
() 30
(D) 32
(E) Answer not Known
denL Qsflweilcrenc

191. A box contains the coins of one rupee, 50 paise and 25 paise in the ratio 5: 6: 8. If the
total amount is 240 rupees, what is the number of one rupee coin?
@@ Quiiguie 5 6: 8 eretm aNflss5ded @ emumi, 50 enusr wHMD 25 emusm
BIemrilBI&er 2 areren. Qrgssd Cgrens 240 emUTW eTermT6D, @(F eHLITUI BTewrw g e
crarenfil&end orewmen?
(A) 100
(B) 120
(C) 140
(D) 160
(E) Answer not Known
enL Q5 flwellcrenc
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192. Iftheratio of the sides of two equilateral triangle is 1: 2 what is the ratio of their area?
Qrean®h FousEs WPECsTammsalen LssBsalan alflgriser 1:2 erafled eumde
ugtyseflenr &g eremeameuns Q& @LWw?
(A) 49
(B) 14
(€©) 12
(D) 23
(E) Answer not Known
aenL Qg flwelcenc

193. There are three numbers A,B,C, such that twice A is equal to thrice B and four times
B is equal to 5 times C. What is the ratio between A and C?
A B womid C ereip eperrm erewrser o eremenm A erenm Q@p WLEIE Buler epem
LEE swb B-uler preng wLmE C Wer BB BHFH WLEIGSEES swb. A wHnLbC
Wer wHULsEHEE QL Cu e NfsD snams
(A) 3:4
(B) 8:15
(C) 15:8
(D) 4:3
(E) Answer not Known
denL Qg flweldenc

194. The salary of three men PQR is in the following ratio P:Q = 5:3 , Q:R = 4: 5 .And their
total salary amount to 564000 then find salary of B.
eperm Buiser AB,C saflumseflenr slflgmser wepGu P:Q = 53 , QR = 4: 5
Sauiser epauflenr Qwrgs eaflu Gsrens 564000 erafles B earfluibd ereucuerey?
(A) 124000
(B) 104000
(C) 114000
(D) 144000
(E) Answer not Known
cen Qg flwellcenc

195. There are two numbers in the ratio 6: 5. If 50% of the first number is 420, What is the
25% of the second number?
Q@ aansaier eNflgrmisear 6:5. Wpsod eamaflen 50 Fseisw erenug 420 eraflc
@rewrLmd eremenflen 25% ereucuerey?
(A) 50
(B) 100
(C) 175
(D) 200
(E) Answer not Known
alenL Q5 flwelcdenc
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196. Of three numbers. The ratio of first and second is 8:9. The ratio of second and third

is 3:4. The product of first and third is 4800. what is the sum of the three numbers?
ppem eTamsefley (P WHMID QreawLnd aavsdler elflsmiser 8:9 Q@puewrmbd
wHmd eperprd eanseaflen elNflsmiser 3:4 Waw WLHMD ePeTHTD T evrsaflen
Qums®s Csrens 4800 erafler epem eramsaficns Fm@OHd sraTs

(A) 100vV2

(B) 120v2

(C) 140V2

(D) 145v2

(E) Answer not Known

adenL Qsflweilcrenc

197. Three numbers are in ratio (1/2):(2/3):(3/4). The difference between the greatest
number and smallest is 36. What are the numbers?
epenm  erawrsder (1/2):(2/3):(3/4) erenmm NSl HHd o arerew. CQuflw wHMD Adlw
qansEpsE QL Cu Caumur@ 36 ecrafldd HHF eramsHer wWreneu?
(A) 72,84,108
(B) 60,72,96
(C) 72,84,96
(D) 72,96,108
(E) Answer not Known

denL Qg flwellcene

198. A sum of Rs.300 is divided among A,B and C in such a way that B gets Rs.30 more
than A, C gets Rs.60 more than B. What is the ratio of their share?
epuml 300 ey AB,C dCunméee Laing eflssiu@dng. B erearueuy A
el 30 emumi Flsw, C gy emeuf B- el 60 emumi flswnrs Qumlpry erafled
epauflenr LBIGSHEHSG QenLwner gD eremen?
(A) 5:3:2
(B) 2:3:5
(C) 3:2:5
(D) 2:5:3
(E) Answer not Known

dlenL Qg flwellcrenc
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199. The product of two positive integer is 75. And their ratio is 9:7. Find the smallest of
the two integers.
Qream® Wens W eansaler CQUMmEGS Csmens 1575 eaupder oNflgw 9:7
Qremiged SPlw eTeRTenemT &MewTS
(A) 35
(B) 45
(C) 25
(D) 55
(E) Answer not Known

alenL Q5 flwelcdenc

200. Rs. 1980 is divided among three persons. Half of 1st person share, (1/3) of second’s
share and (1/6) of third’s share are equal. Find the value of largest share.
epuml 1980 3 pufseErsE uvding elssiu@Spsy wse uvmder umrdHujwd
QrawLmbd ukiflenr eperdled @@l UGSHWYWL cpearprd euflenr LMD Y Mlod @
u@Huw swbd erafled epaufled s ukEG Czrens CUmLeT ereiciere| GLMEUTF?
(A) 1000
(B) 1080
(C) 980
(D) 900
(E) Answer not Known

alenL Q5 flwelcwensc
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